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PROBABILITY

Examples

1. Find the probability of getting a head when

a coin is tossed once. Also find the probability

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8WcSZRayxJgb


of getting a tail.

Watch Video Solution

2. A bag contains a red ball, a blue ball and an

yellow ball, all the balls being of the same size

. Manasa takes out a ball from the bag without

looking into it. What is the probability that

she takes a (i) yellow ball? (ii) red ball? (iii) blue

ball?

Watch Video Solution

https://dl.doubtnut.com/l/_8WcSZRayxJgb
https://dl.doubtnut.com/l/_n89hPtuzWucy
https://dl.doubtnut.com/l/_r8lvMwKp8PFP


3. Suppose we throw a dice once. What is the

probability of getting a number greater than

4?

Watch Video Solution

4. Suppose we throw a dice once. What is the

probability of getting a number less than or

equal to 4?

Watch Video Solution

https://dl.doubtnut.com/l/_r8lvMwKp8PFP
https://dl.doubtnut.com/l/_3176AxTX8rSH
https://dl.doubtnut.com/l/_PPP0Ctx1l2We


5. One card is drawn from a well-shuffled deck

of 52 cards. Calculate the probability that the

card will be an ace.

Watch Video Solution

6. One card is drawn from a well-shuffled deck

of 52 cards. Calculate the probability that the

card will not be an ace.

Watch Video Solution

https://dl.doubtnut.com/l/_PPP0Ctx1l2We
https://dl.doubtnut.com/l/_P4OKulKWJi4y


7. Sangeeta and Reshma , play a tennis match.

It is known that the probability of sangeeta

winning the match is 0.62. What is the

probability of Reshma winning the match?

Watch Video Solution

8. Sarada and Hamida are friends. What is the

probability that both will have different

birthdays?

Watch Video Solution

https://dl.doubtnut.com/l/_Q6G5PSbNGbns
https://dl.doubtnut.com/l/_09oGGX6HlbKD


9. Sarada and Hamida are friends. What is the

probability that both will have the same

birthday?(ignoring a leap year)

Watch Video Solution

10. There are 40 students in Class X of a school

of whom 25 are girls and 15 are boys. The class

teacher has to select one student as a class

representative. She writes the name of each

student on a separate cards, the cards being

https://dl.doubtnut.com/l/_09oGGX6HlbKD
https://dl.doubtnut.com/l/_BAEy8e9pAQUK
https://dl.doubtnut.com/l/_t6D7pWoc2Df9


identical . Then she puts cards in a box and

stirs them thoroughly. She then draws one

card from the box.What is the probability that

the name written on the card is the name of a

girl

Watch Video Solution

11. There are 40 students in Class X of a school

of whom 25 are girls and 15 are boys. The class

teacher has to select one student as a class

representative. She writes the name of each

https://dl.doubtnut.com/l/_t6D7pWoc2Df9
https://dl.doubtnut.com/l/_2JacwVaCWqNE


student on a separate cards, the cards being

identical . Then she puts cards in a box and

stirs them throughly. She then draws one card

from the box.What is the probability that the

name written on the card is the name of a

boy?

Watch Video Solution

12. A box contains 3 blue,2 white and 4 red

marbles. IF a marble is drawn at random from

https://dl.doubtnut.com/l/_2JacwVaCWqNE
https://dl.doubtnut.com/l/_vFpeQTgcMipp


the box, what is the probability that it will be

white?

Watch Video Solution

13. A box contains 3 blue,2 white and 4 red

marbles. IF a marble is drawn at random from

the box, what is the probability that it will be

blue?

Watch Video Solution

https://dl.doubtnut.com/l/_vFpeQTgcMipp
https://dl.doubtnut.com/l/_IhsldEPUU2L4


14. A box contains 3 blue,2 white and 4 red

marbles. IF a marble is drawn at random from

the box, what is the probability that it will be

red?

Watch Video Solution

15. Harpreet tosses two different coins

simultaneously (say, one is of Rs1 and other of

Rs2). What is the probability that she gets at

least one head?

https://dl.doubtnut.com/l/_wXsTjlOOzlt9
https://dl.doubtnut.com/l/_3uecR2edXK1u


Watch Video Solution

16. In a musical chair game, the person playing

the music has been advised to stop playing

the music at any time within 2 minutes after

she starts playing . What is the probability

that the music will stop within the first half-

minute starting?

Watch Video Solution

https://dl.doubtnut.com/l/_3uecR2edXK1u
https://dl.doubtnut.com/l/_o7YS3x9vttRz


17. A missing helicopter is reported to have

crashed somewhere in the rectangular region

as shown in the figure. What is the probability

that it crashed inside the lake shown in the

figure? 

Watch Video Solution

18. A cartoon consists of 100 shirts of which 88

are good, 8 have minor defects and 4 have

https://dl.doubtnut.com/l/_tl4bStFOU3WH
https://dl.doubtnut.com/l/_Jdb6R8YzafwG


major defects. Jhony, a trader, will only accept

the shirts which are good, but Sujatha,

another trader, will only reject the shirts will

have major defects. One shirt is selected at

random from the carton. What is the

probability that it is acceptable to Jhony?

Watch Video Solution

19. A cartoon consists of 100 shirts of which 88

are good, 8 have minor defects and 4 have

major defects. Jhony, a trader, will only accept

https://dl.doubtnut.com/l/_Jdb6R8YzafwG
https://dl.doubtnut.com/l/_OmH1nOfK3Sva


the shirts which are good, but Sujatha,

another trader, will only reject the shirts will

have major defects. One shirt is selected at

random from the carton. What is the

probability that it is acceptable to Sujatha?

Watch Video Solution

20. Two dice, one red and one white , are

thrown at the same time. Write down all the

possible outcomes. What is the probability

https://dl.doubtnut.com/l/_OmH1nOfK3Sva
https://dl.doubtnut.com/l/_dFCTto7ds5o9


that the sum of the two numbers appearing

on the top of the dice is 8?

Watch Video Solution

21. Two dice, one red and one white , are

thrown at the same time. Write down all the

possible outcomes. What is the probability

that the sum of the two numbers appearing

on the top of the dice is 13?

Watch Video Solution

https://dl.doubtnut.com/l/_dFCTto7ds5o9
https://dl.doubtnut.com/l/_IrBQVLF9UKBr
https://dl.doubtnut.com/l/_SAawGHztKQHB


Try This

22. Two dice, one red and one white , are

thrown at the same time. Write down all the

possible outcomes. What is the probability

that the sum of the two numbers appearing

on the top of the dice is less than or equal to

12?

Watch Video Solution

https://dl.doubtnut.com/l/_SAawGHztKQHB


1. A child has a dice whose six faces show the

letters A,B,C,D,E and F. The dice is thrown once.

What is the probability of getting A?

Watch Video Solution

2. A child has a dice whose six faces show the

letters A,B,C,D,E and F. The dice is thrown once.

What is the probability of getting D?

Watch Video Solution

https://dl.doubtnut.com/l/_AJBIMXHadtOG
https://dl.doubtnut.com/l/_3I5GlbEeDd72
https://dl.doubtnut.com/l/_YpQfHkBsc711


3. Which of the following cannot be the

probability of an event? 

2.3

Watch Video Solution

4. Which of the following cannot be the

probability of an event? 

-1.5

Watch Video Solution

https://dl.doubtnut.com/l/_YpQfHkBsc711
https://dl.doubtnut.com/l/_3p6M4Vgx0lrR
https://dl.doubtnut.com/l/_HFniqzPYwymE


5. Which of the following cannot be the

probability of an event? 

(A)  (B)  (C)  (D) 

Watch Video Solution

2

3
−1.5 15 % 0.7

6. Which of the following cannot be the

probability of an event? 

0.7

Watch Video Solution

https://dl.doubtnut.com/l/_HFniqzPYwymE
https://dl.doubtnut.com/l/_V3y1KaKI2W2w


7. You have a single deck of well shuffled cards.

Then, 

What is the probability that the card drawn

will be a queen?

Watch Video Solution

8. What is the probability that it is face card?

Watch Video Solution

https://dl.doubtnut.com/l/_JBauumzFZAX8
https://dl.doubtnut.com/l/_JWHgd0bn3xlB


9. What is the probability that it is a spade?

Watch Video Solution

10. What is the probability that is the face card

of spades?

Watch Video Solution

11. What is the probability it is not a face card?

Watch Video Solution

https://dl.doubtnut.com/l/_1KsdpwmlKVif
https://dl.doubtnut.com/l/_eeZVMtNZxm4o
https://dl.doubtnut.com/l/_yuUWlXrLmDyR


Exercise 13 1

1. Complete the following statements: 

Probability of an event E+Probability of the

event 'not E'=_______.

Watch Video Solution

2. Complete the following statements: 

The probability of an event that cannot

https://dl.doubtnut.com/l/_yuUWlXrLmDyR
https://dl.doubtnut.com/l/_XT6eAin1hyZT
https://dl.doubtnut.com/l/_eoBMOebjbnFU


happen is_______. 

Such as event is called an_________.

Watch Video Solution

3. Complete the following statements: 

The probability of an event that is certain to

happen is __ such an event is called ________.

Watch Video Solution

https://dl.doubtnut.com/l/_eoBMOebjbnFU
https://dl.doubtnut.com/l/_xbvt3IjVpnsw


4. Complete the following statements: 

The sum of the probabilities of all the

elementary events of an experiments is ___.

Watch Video Solution

5. Complete the following statements: 

The probability of an event is greater than or

equal to _______ and less than or equal to ______.

Watch Video Solution

https://dl.doubtnut.com/l/_U90XrTqUhEel
https://dl.doubtnut.com/l/_MmDHDdYCKUOF
https://dl.doubtnut.com/l/_r3OvsWDaLUD9


6. Which of the following experiments have

equally likely outcomes? Explain. 

A driver attempts to start a car. The car starts

or does not start.

Watch Video Solution

7. Which of the following experiments have

equally likely outcomes? Explain. 

A player attempts to shoot a basket-ball.

She/HE shoots or misses the shot.

Watch Video Solution

https://dl.doubtnut.com/l/_r3OvsWDaLUD9
https://dl.doubtnut.com/l/_ymh3DMee11VZ


8. Which of the following experiments have

equally likely outcomes? Explain. 

A trial is made to answer a true -false

question. The answer is right or wrong.

Watch Video Solution

9. Which of the following experiments have

equally likely outcomes? Explain. 

A baby is born. IT is a boy or a girl.

https://dl.doubtnut.com/l/_ymh3DMee11VZ
https://dl.doubtnut.com/l/_UCKSAiTgte7V
https://dl.doubtnut.com/l/_NlWlVVH0Mt8K


Watch Video Solution

10. IF P( E ) =.05, what is the probability of 'not

E'?

Watch Video Solution

11. A bag contains lemon flavoured candies

only. Malini takes out one candy without

looking into the bag what is the probability

that she takes out 

an orange flavoured candy?

https://dl.doubtnut.com/l/_NlWlVVH0Mt8K
https://dl.doubtnut.com/l/_9LXqlgwEmyx9
https://dl.doubtnut.com/l/_aAE1sYWONCer


Watch Video Solution

12. A bag contains lemon flavoured candies

only. Malini takes out one candy without

looking into the bag what is the probability

that she takes out 

a lemon flavoured candy?

Watch Video Solution

https://dl.doubtnut.com/l/_aAE1sYWONCer
https://dl.doubtnut.com/l/_tElqhscYeGpY


13. Rahim removes all the hearts from the

cards. What is the probability of 

picking out an ace from the remaining pack.

Watch Video Solution

14. Rahim removes all the hearts from the

cards. What is the probability of 

picking out a diamond.

Watch Video Solution

https://dl.doubtnut.com/l/_SO1P9Lbs6TaP
https://dl.doubtnut.com/l/_LpylFOc70QQt
https://dl.doubtnut.com/l/_74rjqX8NsPyp


15. Rahim removes all the hearts from the

cards. What is the probability of 

picking out a card that is not a heart.

Watch Video Solution

16. Rahim removes all the hearts from the

cards. What is the probability of 

Picking out the ace of hearts.

Watch Video Solution

https://dl.doubtnut.com/l/_74rjqX8NsPyp
https://dl.doubtnut.com/l/_60xRHVIeoeCX
https://dl.doubtnut.com/l/_qqulMNez06pi


17. It is given that in a group of 3 students, the

probability of 2 students not having the same

birthday is 0.992.What is the probability that

the 2 students have the same birthday?

Watch Video Solution

18. A die is thrown once. Find the probability of

getting a prime number,

Watch Video Solution

https://dl.doubtnut.com/l/_qqulMNez06pi
https://dl.doubtnut.com/l/_fDjVqc4ya1fD


19. A die is thrown once. Find the probability of

getting a number lying between 2 and 6.

Watch Video Solution

20. A die is thrown once. Find the probability

of getting an odd number.

Watch Video Solution

https://dl.doubtnut.com/l/_yMJ8fBPNsoTd
https://dl.doubtnut.com/l/_k4Spjz06JGii


Exercise 13 2

21. What is the probability of drawing out a

red king from a deck of cards?

Watch Video Solution

22. In a bag there are 3 blue and 6 black balls

one ball is drawn at random the probability of

getting blue ball is

Watch Video Solution

https://dl.doubtnut.com/l/_M2tXXgmstob6
https://dl.doubtnut.com/l/_5QYg4BGfVbjw


1. A bag contains 3 red balls and 5 black balls.

A ball is drawn at random from the bag. What

is the probability that the ball drawn is red?

Watch Video Solution

2. A bag contains 3 red balls and 5 black balls.

A ball is drawn at random from the bag. What

is the probability that the ball drawn is not

red?

Watch Video Solution

https://dl.doubtnut.com/l/_RhzmHlII1G3b
https://dl.doubtnut.com/l/_mVuLMeKi49XT


3. A box contains 5 red marbles, 8 white

marbles and 4 green marbles. One marble is

taken out of the box at random. What is the

probability that the marble taken out will be

red?

Watch Video Solution

4. A box contains 5 red marbles, 8 white

marbles and 4 green marbles. One marble is

https://dl.doubtnut.com/l/_mVuLMeKi49XT
https://dl.doubtnut.com/l/_VltnUCc53isS
https://dl.doubtnut.com/l/_JyJ0b5rEKLrI


taken out of the box at random. What is the

probability that the marble taken out will be

white?

Watch Video Solution

5. A box contains 5 red marbles, 8 white

marbles and 4 green marbles. One marble is

taken out of the box at random. What is the

probability that the marble taken out will be

not green?

Watch Video Solution

https://dl.doubtnut.com/l/_JyJ0b5rEKLrI
https://dl.doubtnut.com/l/_hyUV2DiYD1SH


6. A kiddy bank contains hundred 50p coins,

fifity Rs1 coins, twenty Rs2 coins and ten Rs5

coins. IF it is equally likely that one of the

coins will fall out when the bank is turned

upside down, what is the probability that the

coin will be a 50p coins?

Watch Video Solution

7. A kiddy bank contains hundred 50p coins,

fifity Rs1 coins, twenty Rs2 coins and ten Rs5

https://dl.doubtnut.com/l/_hyUV2DiYD1SH
https://dl.doubtnut.com/l/_OKtQWtBzWcL9
https://dl.doubtnut.com/l/_mtcpzbfo7Qr0


coins. IF it is equally likely that one of the

coins will fall out when the bank is turned

upside down, what is the probability that the

coin will not be a 50 p coin?

Watch Video Solution

8. Gopal buys a fish from a shop for his

aquarium. The shopkeeper takes out one fish

at random from a tank containing 5 male fish

and 8 female fish (See figure). What is the

probability that the fish taken out is a male

https://dl.doubtnut.com/l/_mtcpzbfo7Qr0
https://dl.doubtnut.com/l/_zSq9SV9Uy1jC


fish? 

Watch Video Solution

9. A game of chance consists of spinning an

arrow which comes to rest pointing at one of

the numbers 1,2,3,4,5,6,7,8 (See figure), and

these are equally likely outcomes. What is the

probability that it will point at (i) 8 ? (ii) an

odd number? (iii) a number greater than 2?

https://dl.doubtnut.com/l/_zSq9SV9Uy1jC
https://dl.doubtnut.com/l/_KJA7F0UYUs9K


(iv) a number less than 9? 

Watch Video Solution

10. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

king of red colour?

Watch Video Solution

https://dl.doubtnut.com/l/_KJA7F0UYUs9K
https://dl.doubtnut.com/l/_fUouzfvZMPgR


11. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

face card?

Watch Video Solution

12. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

red face card?

Watch Video Solution

https://dl.doubtnut.com/l/_9DFjA7jJXnac
https://dl.doubtnut.com/l/_7Xy5YXWZVPYu
https://dl.doubtnut.com/l/_aLXgtvP39yee


13. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting the

jack of hearts?

Watch Video Solution

14. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

spade?

Watch Video Solution

https://dl.doubtnut.com/l/_aLXgtvP39yee
https://dl.doubtnut.com/l/_ghkG8tkNNE8r
https://dl.doubtnut.com/l/_7GTvuAai0NBb


15. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting the

queen of diamonds?

Watch Video Solution

16. Five cards -the ten , jack queen, king and

ace of diamond, are well shuffled with their

face downwards. One card is then picked up at

random. 

What is the probability that the card is the

queen?

https://dl.doubtnut.com/l/_7GTvuAai0NBb
https://dl.doubtnut.com/l/_ymGkfU3ccOZb


Watch Video Solution

17. Five cards -the ten , jack queen, king and

ace of diamond, are well shuffled with their

face downwards. One card is then picked up at

random. 

IF the queen is drawn and put aside, what is

the probability that the second card picked is

(a) a ace? (b) a queen?

Watch Video Solution

https://dl.doubtnut.com/l/_ymGkfU3ccOZb
https://dl.doubtnut.com/l/_wMPthjIKJwkW


18. 12 defective pens are accidentally mixed

with 132 good ones. IT is not possible to just

look at a pen and tell whether or not it is

defective. One pen is taken out at random

from this lot. Determine the probability that

the pen taken out is a good one.

Watch Video Solution

19. A lot of 20 bulbs contain 4 defective ones.

One bulb is drawn at random from the lot.

https://dl.doubtnut.com/l/_GWgzQQaAVSMz
https://dl.doubtnut.com/l/_apyWKwGNAIFP


What is the probability that this bulb is

defective? Suppose the bulb is drawn is

previous case is not defective and is not

replaced. Now one bulb is drawn at random

from the rest. What is the probability that this

bulb is not defective?

Watch Video Solution

20. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

https://dl.doubtnut.com/l/_apyWKwGNAIFP
https://dl.doubtnut.com/l/_LchYp6F3QKcS


random from the box, find the probability that

it bears a two digit number?

Watch Video Solution

21. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

random from the box, find the probability that

it bears a perfect square number.

Watch Video Solution

https://dl.doubtnut.com/l/_LchYp6F3QKcS
https://dl.doubtnut.com/l/_X2KbQ1wjrwIs


22. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

random from the box, find the probability that

it bears a number divisible by 5.

Watch Video Solution

23. Suppose you drop a die at random on the

rectangular region shown in figure. What is

the probability that it will land inside the circle

https://dl.doubtnut.com/l/_HgMEyI3e46pD
https://dl.doubtnut.com/l/_1Z4vH8e1aU35


with diameter 1m? 

Watch Video Solution

24. A lot consists of 144 ball pens of which 20

are defective and the others are good. The

shopkeeper drawn one pen at random and

gives it to Sudha. What is the probability that

She will buy it?

Watch Video Solution

https://dl.doubtnut.com/l/_1Z4vH8e1aU35
https://dl.doubtnut.com/l/_1g96PJNcS1yO
https://dl.doubtnut.com/l/_on1sPmXfDvSB


25. A lot consists of 144 ball pens of which 20

are defective and the others are good. The

shopkeeper drawn one pen at random and

gives it to Sudha. What is the probability that

She will not buy it?

Watch Video Solution

26. In a bag there are 2 blue and 2 black balls

one ball is drawn at random the probability of

getting black ball is

Watch Video Solution

https://dl.doubtnut.com/l/_on1sPmXfDvSB
https://dl.doubtnut.com/l/_UO659ScSvRP5


27. Two dice are rolled simultaneously and

counts are added 

A student argues that there are 11 possible

outcomes 2,3,4,5,6,7,8,9,10,11 and 12. Therefore,

each of them has a probabilty . Do you

agree with this argument? Justify your answer.

Watch Video Solution

1

11

https://dl.doubtnut.com/l/_UO659ScSvRP5
https://dl.doubtnut.com/l/_RIIitYIKOEUf


28. A game consists of tossing a one rupee

coin 3 times and noting its outcome each

time. Hanif wins if all the tosses give the same

result i.e, three heads or three tails, and loses

other-wise. Calculate the probability that Hanif

will lose the game.

Watch Video Solution

29. A dice is thrown twice. What is the

probability that (i) 5 will not come up either

https://dl.doubtnut.com/l/_imDSQ8ekvDbl
https://dl.doubtnut.com/l/_gn1l1kg7TCwS


Optional Exercise

time? (ii) 5 will come up atleast once? [Hint:

Throwing a dice twice and throwing two dice

simultaneously are treated as the same

experiment].

Watch Video Solution

1. Two customers Shyam and Ekta are visiting a

particular shop in the same week (Tuesday to

https://dl.doubtnut.com/l/_gn1l1kg7TCwS
https://dl.doubtnut.com/l/_btwMgFJjYWmh


Saturday). Each is equally likely to visit the

shop on the same day?

Watch Video Solution

2. Two customers Shyam and Ekta are visiting a

particular shop in the same week (Tuesday to

Saturday). Each is equally likely to visit the

shop on the consecutive days?

Watch Video Solution

https://dl.doubtnut.com/l/_btwMgFJjYWmh
https://dl.doubtnut.com/l/_1mahzL7O6Nqo


3. Two customers Shyam and Ekta are visiting a

particular shop in the same week (Tuesday to

Saturday). Each is equally likely to visit the

shop on the different days?

Watch Video Solution

4. A bag contains 5 red balls and some blue

balls, If the probability of drawing a blue ball is

double that of a red ball, Find the number of

blue balls in the bag.

https://dl.doubtnut.com/l/_S4lQcaSb6ubD
https://dl.doubtnut.com/l/_ZBUZAUouoxrg


Watch Video Solution

5. A box contains 12 balls out of which x are

black, IF one ball is drawn at random from the

box, what is the probability that it will be a

black ball? If 6 more black balls are put in the

box, the probability of drawing a black ball is

now double of what it was before Find x.

Watch Video Solution

https://dl.doubtnut.com/l/_ZBUZAUouoxrg
https://dl.doubtnut.com/l/_br1pTh8k4ckN


Par A Observation Material To Solve Various

Question Given In The Public Examination 1 Mark

6. A jar contains 24 marbles, some are green

and others are blue. IF a marble is drawn at

random from the jar, the probability that it is

green is . Find the number of blue marbles

in the jar.

Watch Video Solution

2/3

https://dl.doubtnut.com/l/_jBHeZpp0dhwX


1. IF P( E) =  what is the probability of " not

E"?

Watch Video Solution

3/4

2. You are writing a test if 40 objective type

questions. Each question carries 1 mark. What

is the probability of marks you may get to be

in multiple of 5?

Watch Video Solution

https://dl.doubtnut.com/l/_hcEIaCEDNG5V
https://dl.doubtnut.com/l/_xxqy6zq6d2yE
https://dl.doubtnut.com/l/_cySMWmNTOQ96


3. A page is opened at random from a book

containing 100 pages. Find the probability

that the page number is a perfect square.

Watch Video Solution

4. IF P( E)=0.546, what is the probability of "not

E"?

Watch Video Solution

https://dl.doubtnut.com/l/_cySMWmNTOQ96
https://dl.doubtnut.com/l/_JI9PAyxOTVt5


5. When die is rolled once unbiased what is

the probability of getting a multiple of 3 out

of possible outcomes?

Watch Video Solution

6. The probability of an event is always in

between 0 and 1. Why?

Watch Video Solution

https://dl.doubtnut.com/l/_CGFh2v63nsEY
https://dl.doubtnut.com/l/_M4aNl10KnYif


7. Find is the probability of throwing a total

score of 7 with two dice.

Watch Video Solution

8. Find the probability of getting a prime

number, when a card drawn at random from

the numbered cards from 1 to 25.

Watch Video Solution

https://dl.doubtnut.com/l/_Kkc2sPHqf2nl
https://dl.doubtnut.com/l/_DfOyFAslLqAo


9. From the first 50 natural numbers, find the

probability of randomly selected number is a

multiple of 3.

Watch Video Solution

10. When a dice is rolled, the probability of

getting a composite number is………….

Watch Video Solution

https://dl.doubtnut.com/l/_eQoHnN9ZEPpR
https://dl.doubtnut.com/l/_Mf7yCxqWvNpj


11. What is the probability of getting exactly

two heads, when three coins tossed

simultaneously?

Watch Video Solution

12. A box contains 3 blue and 4 red balls, What

is the probability that the ball taken out

randomly will be red?

Watch Video Solution

https://dl.doubtnut.com/l/_UAIM0BHozSgO
https://dl.doubtnut.com/l/_XBj3ZzyOoAi3


Par A Observation Material To Solve Various

Question Given In The Public Examination 2 Mark

1. A bag contains 5 red and 8 white balls . If a

ball is drawn a random from the bag. What is

the probability that it will be 

(i) white ball (ii) not to be white ball.

Watch Video Solution

2. There are 5 cards in a box with numbers 1 to

5 written on them, If 2 cards are picked out

https://dl.doubtnut.com/l/_HAmjfFwUOyrm
https://dl.doubtnut.com/l/_bT3kHpt1e1dK


from the box, write all the possible outcomes

and find the probability of getting both even

numbers.

Watch Video Solution

3. IF a die is rolled, then the probability of

getting an even number is…………

Watch Video Solution

https://dl.doubtnut.com/l/_bT3kHpt1e1dK
https://dl.doubtnut.com/l/_L6rDJbhjqlME


4. A die is thrown once. Find the probability of

getting 

an odd prime number.

Watch Video Solution

5. There are 12red, 18 blue and 6 white balls in

a box, when balls is drawn at random from the

box, what is the probability of not getting a

red ball?

Watch Video Solution

https://dl.doubtnut.com/l/_TIjpw3g79zRv
https://dl.doubtnut.com/l/_8EPdafrHgzaa


6. When a card is drawn from a well shuffled

deck of 52 cards, then find the probability of

NOT getting a red faced card.

Watch Video Solution

7. There are 5 red balls, 4 green balls and 6

yellow balls in a box. IF a ball is selected at

random, what is the probability of not getting

a yellow ball?

Watch Video Solution

https://dl.doubtnut.com/l/_8EPdafrHgzaa
https://dl.doubtnut.com/l/_Bvrq3ZVgFix1
https://dl.doubtnut.com/l/_Vy2HsrVpFeAq


8. One card is selected from a well shuffled

deck of 52 cards. Find the probability of

getting a red card with prime number.

Watch Video Solution

9. From the following data. Find the

probability of selecting 'B' blood group

student . 

https://dl.doubtnut.com/l/_Vy2HsrVpFeAq
https://dl.doubtnut.com/l/_PSTocI7rJ3tg
https://dl.doubtnut.com/l/_5Z1FalAqbWbd


Par A Observation Material To Solve Various

Question Given In The Public Examination 4 Mark

Watch Video Solution

10. What is the probability of a number picked

from first twenty natural numbers is even

composite number?

Watch Video Solution

https://dl.doubtnut.com/l/_5Z1FalAqbWbd
https://dl.doubtnut.com/l/_9rz18UDAEePg


1. From a deck of 52 playing cards, king , Ace

and 10 of clubs were removed and remaining

cards were well shuffled. IF a card is drawn at

random from the remaining , find the

probability of getting a card of 

Club

Watch Video Solution

2. From a deck of 52 playing cards, king , Ace

and 10 of clubs were removed and remaining

https://dl.doubtnut.com/l/_GTYtXMXSBPvl
https://dl.doubtnut.com/l/_qtzVw3lY3raM


cards were well shuffled. IF a card is drawn at

random from the remaining , find the

probability of getting a card of 

Ace

Watch Video Solution

3. From a deck of 52 playing cards, king , Ace

and 10 of clubs were removed and remaining

cards were well shuffled. IF a card is drawn at

random from the remaining , find the

https://dl.doubtnut.com/l/_qtzVw3lY3raM
https://dl.doubtnut.com/l/_shd3BdLi5aue


probability of getting a card of 

Diamong king

Watch Video Solution

4. From a deck of 52 playing cards, king , Ace

and 10 of clubs were removed and remaining

cards were well shuffled. IF a card is drawn at

random from the remaining , find the

probability of getting a card of 

Club 5.

Watch Video Solution

https://dl.doubtnut.com/l/_shd3BdLi5aue
https://dl.doubtnut.com/l/_mNKmQFkbz7FE


5. A bag contains 20 discs, which are

numbered from 1 to 20. If one disc is drawn at

random from the bag, find the probability that

it bears: 

an even number.

Watch Video Solution

6. A bag contains 20 discs, which are

numbered from 1 to 20. If one disc is drawn at

random from the bag, find the probability that

https://dl.doubtnut.com/l/_mNKmQFkbz7FE
https://dl.doubtnut.com/l/_lRafp9gCbJfh
https://dl.doubtnut.com/l/_1matfMGg9Aas


it bears: 

Prime number.

Watch Video Solution

7. A bag contains 20 discs, which are

numbered from 1 to 20. If one disc is drawn at

random from the bag, find the probability that

it bears: 

Multiple of 5.

Watch Video Solution

https://dl.doubtnut.com/l/_1matfMGg9Aas
https://dl.doubtnut.com/l/_OUwrRd5ILrdj
https://dl.doubtnut.com/l/_baroMIBz55Tz


8. A bag contains 20 discs, which are

numbered from 1 to 20. If one disc is drawn at

random from the bag, find the probability that

it bears: 

Two digit odd number.

Watch Video Solution

9. There are 100 flash cards labelled from 1 to

100 in a bag. When a card is drawn from the

bag at random, what is the probability of

getting………. 

https://dl.doubtnut.com/l/_baroMIBz55Tz
https://dl.doubtnut.com/l/_lCQGZ9XLZ7VT


a card with prime number from possible

outcomes?

Watch Video Solution

10. There are 100 flash cards labelled from 1 to

100 in a bag. When a card is drawn from the

bag at random, what is the probability of

getting………. 

a card without prime number from possible

outcomes?

Watch Video Solution

https://dl.doubtnut.com/l/_lCQGZ9XLZ7VT
https://dl.doubtnut.com/l/_BmBYYxIFQlRU


11. A shopkeeper has 100 memory cards in a

box. Among then, 15 memory cards are

defective. When a person came to the shop to

buy a memory card, the shopkeeper drew a

memory card at random from the box. Then, 

what is the probability that this memory card

is defective?

Watch Video Solution

https://dl.doubtnut.com/l/_BmBYYxIFQlRU
https://dl.doubtnut.com/l/_pEjepMKRWP6D


12. A shopkeeper has 100 memory cards in a

box. Among them 15 memory cards Are

defective when a person came to the shop to

buy a memory cards, the
 shopkeeper draw a

memory card at random from the box then
(i)

What is the probability that memory card is

defective?
 (ii) After drawing the first memory

card which is defective, it is not placed
back in

the box”. Then what is the probability that this

memory card is
not defective.

Watch Video Solution

https://dl.doubtnut.com/l/_NIXv2o7RmNxr


13. A bag contains 5 red balls and some blue

balls, If the probability of drawing a blue ball is

double that of a red ball, Find the number of

blue balls in the bag.

Watch Video Solution

14. Two dice are rolled at same time and the

sum of the numbers appearing on them is

noted. Find the probability of getting each

sum from 3 to 5 separately.

https://dl.doubtnut.com/l/_Ys82EdWuwZLc
https://dl.doubtnut.com/l/_gr8TpxrhY8zp


Watch Video Solution

15. A bag contains some square cards. A prime

number between 1 and 100 has been written

on each card. Find the probability of getting a

card that the sum of the digits of prime

number written on it, is 8.

Watch Video Solution

16. From the deck of 52 cards, if a card is

randomly chosen , find the probability of

https://dl.doubtnut.com/l/_gr8TpxrhY8zp
https://dl.doubtnut.com/l/_l1gyS1xYEa18
https://dl.doubtnut.com/l/_TXZmWBZ21Xe2


getting a card with a prime number on it?

Watch Video Solution

17. From the deck of 52 cards, if a card is

randomly chosen , find the probability of

getting a card with face on it?

Watch Video Solution

18. Two dice are thrown at the same time what

is the probability that the sum of two

https://dl.doubtnut.com/l/_TXZmWBZ21Xe2
https://dl.doubtnut.com/l/_1CMewoxUxFn6
https://dl.doubtnut.com/l/_RXrAclkrhYGZ


numbers appearing on the top of the dice is

10.

Watch Video Solution

19. Two dice are thrown at the same time what

is the probability that the sum of two

numbers appearing on the top of the dice is

less than or equal to 12.

Watch Video Solution

https://dl.doubtnut.com/l/_RXrAclkrhYGZ
https://dl.doubtnut.com/l/_DShAR9r9t7PX


20. Two dice are thrown at the same time what

is the probability that the sum of two

numbers appearing on the top of the dice is a

prime number.

Watch Video Solution

21. Two dice are thrown at the same time what

is the probability that the sum of two

numbers appearing on the top of the dice is

multiple of 3?

https://dl.doubtnut.com/l/_9xHkHBgB1cSi
https://dl.doubtnut.com/l/_xtKieEoEm953


Creative Question For Cce Model Examination

Watch Video Solution

1. There are 3 red and 4 white balls in a bag. If

a ball is taken randomly then calculate the

probability of it to be a red ball.

Watch Video Solution

2. There are 3 red and 4 white balls in a bag. If

a ball is taken randomly then calculate the

https://dl.doubtnut.com/l/_xtKieEoEm953
https://dl.doubtnut.com/l/_2dJQeEvi8Y71
https://dl.doubtnut.com/l/_Ke1lBRFrVtyW


probability of it to be a white ball.

Watch Video Solution

3. Find the probability of existing 53 sundays

in a common year.

Watch Video Solution

4. In a skinner numbered from 1-20, find the

probability of getting of following 

prime number.

https://dl.doubtnut.com/l/_Ke1lBRFrVtyW
https://dl.doubtnut.com/l/_oftlytUe92Lv
https://dl.doubtnut.com/l/_baEG4Nteok1k


Watch Video Solution

5. In a skinner numbered from 1-20, find the

probability of getting of following 

composite number.

Watch Video Solution

6. In a skinner numbered from 1-20, find the

probability of getting of following 

multiple of three.

https://dl.doubtnut.com/l/_baEG4Nteok1k
https://dl.doubtnut.com/l/_mTYYC071PGBU
https://dl.doubtnut.com/l/_SFNK1pqdFi4B


Watch Video Solution

7. When a six face die is rolled find the

probability of getting the following 

getting less than five.

Watch Video Solution

8. When a six face die is rolled find the

probability of getting the following 

getting more than five.

Watch Video Solution

https://dl.doubtnut.com/l/_SFNK1pqdFi4B
https://dl.doubtnut.com/l/_xOyOdUGblD74
https://dl.doubtnut.com/l/_fdSFbDlII0gV


9. In a bag there are 3 red and 3 black balls

one ball is drawn at random the probability of

getting red ball is

Watch Video Solution

10. In a 50 marks examination,there is 80%

possibility to pass in that exam. So find the

probability for pass in exam.

Watch Video Solution

https://dl.doubtnut.com/l/_fdSFbDlII0gV
https://dl.doubtnut.com/l/_SLz44iXRoDlh
https://dl.doubtnut.com/l/_QcUKQRPH9YwV


11. In a class 32 students out of 60 take tea. So

find the probability of choosing randomly a

student who doesn't take tea.

Watch Video Solution

12. In a bag there are 3 red and 8 black balls

one ball is drawn at random the probability of

getting red ball is

Watch Video Solution

https://dl.doubtnut.com/l/_QcUKQRPH9YwV
https://dl.doubtnut.com/l/_Hrycr904KVvV
https://dl.doubtnut.com/l/_pU8syrkIDdNd


Part B Observation Bits To Solve Various Bits

Given In The Public Examination

1. Karishma and Reshma are playing chess. The

probability of winning Karishma is 0.59. Then

probability of Reshma winning the match

is………..

A. 1

B. 0.46

C. 0.5

https://dl.doubtnut.com/l/_pU8syrkIDdNd
https://dl.doubtnut.com/l/_yrz3TYtmsxdH


D. 0.41

Answer: D

Watch Video Solution

2. Vinneta said that probability of impossible

events is 1, Dhanalakshmi said that probability

of sure event is '0' and Sireesha said that

probability of any event lies in between 0 and

1. In the above with whom will you agree?

A. Vineeta

https://dl.doubtnut.com/l/_yrz3TYtmsxdH
https://dl.doubtnut.com/l/_peHjx8yPEYHL


B. Dhanalakshmi

C. Sireesha

D. All the three

Answer: C

Watch Video Solution

3. A page is opened at random from a book

containing 90 pages. Then the probability of a

page number is a perfect square is………..

https://dl.doubtnut.com/l/_peHjx8yPEYHL
https://dl.doubtnut.com/l/_fpaMlbPkislr


A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

90

90

2

90

1

10

4. In a bag there are 3 blue and 2 black balls

one ball is drawn at random the probability of

getting blue ball is

https://dl.doubtnut.com/l/_fpaMlbPkislr
https://dl.doubtnut.com/l/_JukPvsQCWNBy


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

5

3

3

5

5

5

3

5. What is the probability of drawing out a red

king from a deck of cards?

https://dl.doubtnut.com/l/_JukPvsQCWNBy
https://dl.doubtnut.com/l/_OTBd8Hqm1tIE


A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

1

3

1

26

1

2

6. Getting a prime or composite number is a

…………….event.

https://dl.doubtnut.com/l/_OTBd8Hqm1tIE
https://dl.doubtnut.com/l/_vZ6G1bnaxSU9


A. mutually exclusive

B. equally likely

C. 0

D. None

Answer: A

Watch Video Solution

7. The probability of getting a head when a

coin is tossed once is…………..

https://dl.doubtnut.com/l/_vZ6G1bnaxSU9
https://dl.doubtnut.com/l/_i8ysc17Ba5PP


A. 0

B. 

C. 

D. 1

Answer: B

Watch Video Solution

1

2

1

4

8. Which one of the following can not be the

probability of an event?

https://dl.doubtnut.com/l/_i8ysc17Ba5PP
https://dl.doubtnut.com/l/_MBQswG4klmsE


A. 0.7

B. 

C. -1.5

D. 

Answer: C

Watch Video Solution

2

3

4

5

9. IF P ( E ) =0.26, then P =………..

A. 0.74

( ¯̄̄E)

https://dl.doubtnut.com/l/_MBQswG4klmsE
https://dl.doubtnut.com/l/_dUNRcoh3H8Va


B. 0

C. 0.26

D. 1

Answer: A

Watch Video Solution

10. Probability of getting 7, when a dice is

rolled, is……………

A. 
1

6

https://dl.doubtnut.com/l/_dUNRcoh3H8Va
https://dl.doubtnut.com/l/_kEy4vLMw1ExQ


B. 

C. 

D. 0

Answer: D

Watch Video Solution

1

7

6

7

11. Which of the following situations have

equally likely events? 

1) getting 1 or 2 or 3 or 4 or 5 or 6 when a dice

is rolled 

https://dl.doubtnut.com/l/_kEy4vLMw1ExQ
https://dl.doubtnut.com/l/_NEwzOg4iVQG8


2) Winning or loosing a game 

3) Head or Tail, when a coin is tossed

A. 1 and 2

B. 2 and 3

C. 1 and 3

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NEwzOg4iVQG8


12. The probability of picking a letter from the

set of English alphabets is . The alphabet

can be……………..

A. consonant

B. vowel

C. any alphabet

D. None

Answer: B

Watch Video Solution

5

26

https://dl.doubtnut.com/l/_SOEICFHROi95


13. IF a die is rolled, then the probability of

getting a prime number is…………

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

5

1

3

1

2

1

6

https://dl.doubtnut.com/l/_sriPZwBFTKVl
https://dl.doubtnut.com/l/_krQ6EexQW83z


14. Which of the following cannot be the

probability of an event? 

15%

A. 0.2

B. 

C. 0.72

D. 

Answer: D

Watch Video Solution

2

5

1. 3̄

https://dl.doubtnut.com/l/_krQ6EexQW83z
https://dl.doubtnut.com/l/_cEs8b8NT7qrB


15. From a deck of cards, a card is drawn at

random, then the probability of getting a red

king is……..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

13

3

14

3

26

1

26

https://dl.doubtnut.com/l/_cEs8b8NT7qrB


16. IF P ( E ) =1, then P =…………

A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

( ¯̄̄E)

2

3

3

2

https://dl.doubtnut.com/l/_7Yiwh0VoyqhX


17. When a die is rolled, the probability of

getting an odd prime number is …………….

A. 

B. 

C. 

D. 3

Answer: A

Watch Video Solution

1

3

2

3

1

6

https://dl.doubtnut.com/l/_75sGe5876nYc
https://dl.doubtnut.com/l/_DJKlHCQVHKLw


18. The probability that the sum of two

numbers appearing on the top of the dice is

13,when two dice are rolled at the same time

is…………

A. -1

B. 1

C. 2

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DJKlHCQVHKLw


19. IF P ( E ) =0.05, then P =………

A. 0.5

B. 0.95

C. 9.5

D. 0.095

Answer: B

Watch Video Solution

( ¯̄̄E)

https://dl.doubtnut.com/l/_DJKlHCQVHKLw
https://dl.doubtnut.com/l/_kFag1HUbg8x9


20. Which of the following be the probability

of an event?

A. -1.5

B. 0.7

C. -2.4

D. -1.15

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xF8x2283HWYR
https://dl.doubtnut.com/l/_3vT6ABrutxg6


21. P ( E )=0.65 then P =…….

A. 0.25

B. 1

C. 0.35

D. 0

Answer: C

Watch Video Solution

( ¯̄̄E)

22. IF P ( E )=0.82 then P =………( ¯̄̄E)

https://dl.doubtnut.com/l/_3vT6ABrutxg6
https://dl.doubtnut.com/l/_89ECBR6kvDeb


A. 0.18

B. 0.28

C. 0.38

D. P ( E )=P 

Answer: A

Watch Video Solution

( ¯̄̄E)

23. Let E, , be the complimentary events, in a

random experiment , then which of the

following is true?

¯̄̄E

https://dl.doubtnut.com/l/_89ECBR6kvDeb
https://dl.doubtnut.com/l/_jkmq0YORXrxe


A. P( E )+P =2

B. P( E )+P =3

C. P +P (E ) =1

D. P +P (E ) =4

Answer: C

Watch Video Solution

( ¯̄̄E)

( ¯̄̄E)

( ¯̄̄E)

( ¯̄̄E)

24. Which one of the following cannot be the

probability of an event?

https://dl.doubtnut.com/l/_jkmq0YORXrxe
https://dl.doubtnut.com/l/_JRt67YxPjW1J


A. 

B. 

C. 0.7

D. -

Answer: D

Watch Video Solution

2

3

4

5

5

4

25. On random selection, the probability of

getting a composite number among the

numbers from 51 to 100.

https://dl.doubtnut.com/l/_JRt67YxPjW1J
https://dl.doubtnut.com/l/_tIH4OAd8Ah5q


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

5

1

5

3

5

2

5

26. Let E,and , be the complimentary events.

IF P =0.65m then P (E )=……….

¯̄̄E

( ¯̄̄E)

https://dl.doubtnut.com/l/_tIH4OAd8Ah5q
https://dl.doubtnut.com/l/_P7pHYOMTzsjW


A. 

B. 0.45

C. 0.35

D. 

Answer: D

Watch Video Solution

0.40

0.30

27. At what value of 'x',  may possible

probability of an event?

5

x

https://dl.doubtnut.com/l/_P7pHYOMTzsjW
https://dl.doubtnut.com/l/_FViqLsd1VCGm


A. 2

B. 1

C. 6

D. 4

Answer: C

Watch Video Solution

28. IF P ( E ) is the probability of an event E,

then……….

https://dl.doubtnut.com/l/_FViqLsd1VCGm
https://dl.doubtnut.com/l/_88iCeKtjLlxc


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0 < P (E) < 1

0 ≤ P (E) < 1

0 ≤ P (E) ≤ 1

0 < P (E) ≤ 1

29. The probability of getting right answer to a

question is 0.68, the probability of getting a

wrong answer is ………….

https://dl.doubtnut.com/l/_88iCeKtjLlxc
https://dl.doubtnut.com/l/_y2YEO9JtNRvF


Creative Bits For Cce Model Examination

A. 0.32

B. 0.32

C. 32

D. A and B

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_y2YEO9JtNRvF


1. Two fair dice are rolled and the face values

are added. The probability of getting an odd

number greater than 8 is ……………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

9

1

6

1

4

1

9

https://dl.doubtnut.com/l/_1HKPRGt3DWO3


2. A jar contains 3 mangoes and x guavas. Two

fruits are pulled from the jar without

replacement. An expression that represents

the probability one fruit is mango and the

next fruit is guava is……….

A. 

B. 

C. 

D. 

Answer: B

( )( )
3

x + 3

x − 1

x + 2

( )( )
3

x + 3

x

x + 2

( )( )
3

x + 3

x − 1

x − 2

3 × 2

(x + 3)(x + 2)

https://dl.doubtnut.com/l/_QYk80y4uOjLU


Watch Video Solution

3. A card is pulled from a deck of 52 cards, The

probability of obtaining a club is

A. 

B. 

C. 

D. 

Answer: D

1

3

13

26

2

11

1

4

https://dl.doubtnut.com/l/_QYk80y4uOjLU
https://dl.doubtnut.com/l/_SDzsJL3l2eln


Watch Video Solution

4. Three different greetings cards and their

corresponding covers are randomly strewn

about on a table. IF Sita puts the greetings

cards into the covers at random, the

probability of correctly matching of all the

greeting cards and covers is ……

A. 

B. 

C. 

5

6

2

3

1

6

https://dl.doubtnut.com/l/_SDzsJL3l2eln
https://dl.doubtnut.com/l/_ZdLxYVUHmlHK


D. 

Answer: C

Watch Video Solution

1

9

5. When a coin is tossed, the probability of

getting a head is………….

A. 

B. 

C. 

1

2

1

4

1

3

https://dl.doubtnut.com/l/_ZdLxYVUHmlHK
https://dl.doubtnut.com/l/_Qc2bTuNo17jG


D. 

Answer: A

Watch Video Solution

1

6

6. IF a die is rolled, then the probability of

getting an even number is…………

A. 

B. 

C. 

1

6

1

3

1

2

https://dl.doubtnut.com/l/_Qc2bTuNo17jG
https://dl.doubtnut.com/l/_waJ45lucWR2X


D. 

Answer: C

Watch Video Solution

2

5

7. IF two dice ar rolled at a time then the

probability that the two faces show different

numbers is

A. 

B. 

1

6

35

36

https://dl.doubtnut.com/l/_waJ45lucWR2X
https://dl.doubtnut.com/l/_ojXFzR3hw0yB


C. 

D. 

Answer: C

Watch Video Solution

5

6

1

36

8. Find the probability of getting the same

number on the both the dice when two dice

are thrown.

A. 
1

6

https://dl.doubtnut.com/l/_ojXFzR3hw0yB
https://dl.doubtnut.com/l/_8Vox3uSMezvn


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

4

1

12

1

3

9. The probability of getting a number less

than 5 when a die is rolled is

A. 
4

5

https://dl.doubtnut.com/l/_8Vox3uSMezvn
https://dl.doubtnut.com/l/_DSLOvGfuDle3


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

3

6

1

6

10. IF a card is drawn from a pack the

probability that it is a king is

A. 
1

13

https://dl.doubtnut.com/l/_DSLOvGfuDle3
https://dl.doubtnut.com/l/_uSaIuVBhnm4d


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

52

1

3

1

4

11. A card is pulled from a deck of 52 cards, The

probability of obtaining a club is

A. 
1

52

https://dl.doubtnut.com/l/_uSaIuVBhnm4d
https://dl.doubtnut.com/l/_vZK2BdeFcHr6


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

4

1

13

1

26

12. In a lucky dip of 30 tokens, Gopi purchased

two tokens . Then the probability of getting

the first prize is

https://dl.doubtnut.com/l/_vZK2BdeFcHr6
https://dl.doubtnut.com/l/_s2cUXy3MvaGN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

30

2

30

3

30

2

15

13. IF a ball is drawn at random from a box

containing 11 red balls,6 white balls and 9

https://dl.doubtnut.com/l/_s2cUXy3MvaGN
https://dl.doubtnut.com/l/_7QAfmVojG6tV


green balls then, the probability that the ball

is not green is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9

26

17

26

11

26

6

26

https://dl.doubtnut.com/l/_7QAfmVojG6tV


14. A box contains pencils and pens. The

probability of picking out a pen at random of

0.65. Then the probability of not picking a pen

is

A. 0.45

B. 0.55

C. 0.65

D. 0.35

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_niGAmkm3D1it


Watch Video Solution

15. Which of the following are equally likely

events?

A. Getting a head or tail is tossing a coin

B. In a throw of a die, getting prime or

composite number

C. Drawing a number card from 1-50, a

number divisible by 6 or 8.

https://dl.doubtnut.com/l/_niGAmkm3D1it
https://dl.doubtnut.com/l/_FkIE7Wj5hV3N


D. Picking a heart or black card from a deck

of playing cards.

Answer: A

Watch Video Solution

16. In a simultaneous toss of two coins,

probability of no tails is

A. 

B. 

1

2

1

3

https://dl.doubtnut.com/l/_FkIE7Wj5hV3N
https://dl.doubtnut.com/l/_MX6HufbDsriN


C. 

D. 

Answer: D

Watch Video Solution

1

4

3

4

17. In a simultaneous toss of two coins, the

probability of atleast one head is

A. 

B. 

1

3

2

4

https://dl.doubtnut.com/l/_MX6HufbDsriN
https://dl.doubtnut.com/l/_E4mu6VFMkZNz


C. 

D. 

Answer: C

Watch Video Solution

3

4

1

4

18. In a single thrown of two dice, the

probability of getting a total of 12 is

A. 

B. 

1

18

1

36

https://dl.doubtnut.com/l/_E4mu6VFMkZNz
https://dl.doubtnut.com/l/_OJmYtuMqjjqT


C. 

D. 

Answer: B

Watch Video Solution

1

9

1

12

19. In a single throw of two dice, the

probability of getting a total of 3 or 5 is

A. 

B. 

1

3

2

3

https://dl.doubtnut.com/l/_OJmYtuMqjjqT
https://dl.doubtnut.com/l/_7iMp8IcU94tr


C. 

D. 

Answer: C

Watch Video Solution

1

6

5

6

20. In a single throw of two dice, the

probability of getting a total of 11 is

A. 

B. 

1

9

1

18

https://dl.doubtnut.com/l/_7iMp8IcU94tr
https://dl.doubtnut.com/l/_qARUQXvIL5sm


C. 

D. 

Answer: B

Watch Video Solution

1

12

35

36

21. In a single throw of two dice, the

probability getting a doublet is

A. 

B. 

5

6

3

11

https://dl.doubtnut.com/l/_qARUQXvIL5sm
https://dl.doubtnut.com/l/_7YezV49ux9Ov


C. 

D. 

Answer: D

Watch Video Solution

5

12

1

6

22. In a single throw of two dice, the

probability of getting distinct numbers is

A. 

B. 

5

6

3

12

https://dl.doubtnut.com/l/_7YezV49ux9Ov
https://dl.doubtnut.com/l/_IN6t6r8MSQ1P


C. 

D. 

Answer: A

Watch Video Solution

5

36

4

36

23. In a single throw of two dice, the

probability of getting even doublet is

A. 

B. 

3

13

1

12

https://dl.doubtnut.com/l/_IN6t6r8MSQ1P
https://dl.doubtnut.com/l/_MqC2EqAJ8d2Z


C. 

D. 

Answer: B

Watch Video Solution

1

15

1

18

24. When two dice are rolled, probability of

getting odd doublet is

A. 

B. 

1

12

1

18

https://dl.doubtnut.com/l/_MqC2EqAJ8d2Z
https://dl.doubtnut.com/l/_VBw46H9eAJyG


C. 

D. 

Answer: A

Watch Video Solution

1

9

1

6

25. Two dice are rolled, the probability of

getting 6 as the product is

A. 

B. 

1

18

1

12

https://dl.doubtnut.com/l/_VBw46H9eAJyG
https://dl.doubtnut.com/l/_3S0DMUkcMVrX


C. 

D. 

Answer: C

Watch Video Solution

1

9

1

6

26. The set of all possible events is called……….

A. event

B. impossible

C. sample space

https://dl.doubtnut.com/l/_3S0DMUkcMVrX
https://dl.doubtnut.com/l/_nSnkKhQuYEIx


D. None

Answer: C

Watch Video Solution

27. A die is thrown. Find the probability of

getting:
a number less than or equal to 6

A. base event

B. impossible event

C. element

https://dl.doubtnut.com/l/_nSnkKhQuYEIx
https://dl.doubtnut.com/l/_zGwSlqcmWSYb


D. sure event

Answer: D

Watch Video Solution

28. When a coin is tossed, the probability of

getting a head is………….

A. 

B. 2

C. -1

1

2

https://dl.doubtnut.com/l/_zGwSlqcmWSYb
https://dl.doubtnut.com/l/_COO6noyAR4AX


D. 

Answer: A

Watch Video Solution

3

2

29. When a dice is rolled, the probability of

getting a composite number is………….

A. 

B. 

C. 

1

4

1

2

1

3

https://dl.doubtnut.com/l/_COO6noyAR4AX
https://dl.doubtnut.com/l/_y8bdyw023RSP


D. None

Answer: C

Watch Video Solution

30. From a deck of cards, a card is drawn at

random, then the probability of getting a

black a face card is…………

A. 

B. 

9

2

1

4

https://dl.doubtnut.com/l/_y8bdyw023RSP
https://dl.doubtnut.com/l/_WOO3nCJERKul


C. 

D. 

Answer: D

Watch Video Solution

3

2

3

26

31. From a bag containing 6 red balls, 5 green

balls and 3 blue balls, the probability of

getting a green ball at random………

A. 
5

14

https://dl.doubtnut.com/l/_WOO3nCJERKul
https://dl.doubtnut.com/l/_pS4h6pSRo0C2


B. 

C. 

D. None

Answer: A

Watch Video Solution

4

5

5

4

32. There are 50 cards numbered from 1 to 50.

A card is drawn at random, then the

probability that the number on the card is

divisible by 8 is…………

https://dl.doubtnut.com/l/_pS4h6pSRo0C2
https://dl.doubtnut.com/l/_ojXvzXdx02ER


A. 

B. 

C. 

D. None

Answer: B

Watch Video Solution

25

3

3

25

19

4

33. The event which can't happen at all is

known as…………event.

https://dl.doubtnut.com/l/_ojXvzXdx02ER
https://dl.doubtnut.com/l/_MzU6DtWjcq8e


A. sure

B. possible

C. impossible

D. None

Answer: C

Watch Video Solution

34. The probability of a certain event is …………..

A. 9

https://dl.doubtnut.com/l/_MzU6DtWjcq8e
https://dl.doubtnut.com/l/_ekMlDJkElQqv


B. 7

C. 0

D. 1

Answer: D

Watch Video Solution

35. The probability of an impossible event is

A. 1

B. 0

https://dl.doubtnut.com/l/_ekMlDJkElQqv
https://dl.doubtnut.com/l/_EwvG14Pm9NPo


C. 4

D. None

Answer: B

Watch Video Solution

36. Probability of an event lies between

……….and…………..

A. 0,1

B. 2,3

https://dl.doubtnut.com/l/_EwvG14Pm9NPo
https://dl.doubtnut.com/l/_teoqXHwxfiU2


C. 7,1

D. 4,9

Answer: A

Watch Video Solution

37. P (E ) +P ( E' )=…….

A. 0

B. 2

C. 1

https://dl.doubtnut.com/l/_teoqXHwxfiU2
https://dl.doubtnut.com/l/_3HfWa5tGJjlc


D. None

Answer: C

Watch Video Solution

38. In a box, there are 28 marbles of which x

are green and the rest are white. If the

probability of getting a green marble is .

Then number of green marbles=…….

A. 8

2

7

https://dl.doubtnut.com/l/_3HfWa5tGJjlc
https://dl.doubtnut.com/l/_dNgicC9UJq4q


B. 9

C. 10

D. 13

Answer: A

Watch Video Solution

39. In a box, there are 28 marbles of which x

are green and the rest are white. If the

probability of getting a green marble is .

Number of white marbles in the problem=………

2

7

https://dl.doubtnut.com/l/_dNgicC9UJq4q
https://dl.doubtnut.com/l/_o9eBv61ZzMqy


A. 12

B. 11

C. 16

D. 20

Answer: D

Watch Video Solution

40. IF E is an event whose probability is ,

then the probability of not E is………..

2

5

https://dl.doubtnut.com/l/_o9eBv61ZzMqy
https://dl.doubtnut.com/l/_JECub77HoPwN


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

5

3

3

5

1

3

41. From a well shuffled pack of cards, a card is

drawn at random, then the probability of

getting a red jack is……….

https://dl.doubtnut.com/l/_JECub77HoPwN
https://dl.doubtnut.com/l/_BhzOk6tgdCXO


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

3

1

26

1

52

1

31

42. From a well shuffled pack of cards, a card is

drawn at random, then the probability of

getting a red coloured card is

https://dl.doubtnut.com/l/_BhzOk6tgdCXO
https://dl.doubtnut.com/l/_YWAYNswutsxk


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

1

2

1

3

1

7

43. IF an unbiased coin is tossed the

probability of getting a tail is …………

https://dl.doubtnut.com/l/_YWAYNswutsxk
https://dl.doubtnut.com/l/_NX5nfkYiPPjW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4

3

3

4

1

3

1

2

44. IF two dice are rolled simultaneously then

the 'sum' with greatest possibility to happen

is……….

https://dl.doubtnut.com/l/_NX5nfkYiPPjW
https://dl.doubtnut.com/l/_N7iU9uH8S3Xp


A. 71

B. 7

C. 3

D. None

Answer: B

Watch Video Solution

45. If two events have same chances to

happen, then they are called…………

https://dl.doubtnut.com/l/_N7iU9uH8S3Xp
https://dl.doubtnut.com/l/_ir7B7LNtAiFb


A. equally likely

B. not likely

C. cards

D. None

Answer: A

Watch Video Solution

46. If the occurrence of one event prevents the

occurrence of another event then they are……….

https://dl.doubtnut.com/l/_ir7B7LNtAiFb
https://dl.doubtnut.com/l/_4c2F2NB4Sy4H


A. inclusive

B. dice

C. picking

D. mutually exclusive

Answer: D

Watch Video Solution

47. Probability of switching on a bulb is a dark

room is 0.35, then the probability of not

switching the bulb is………….

https://dl.doubtnut.com/l/_4c2F2NB4Sy4H
https://dl.doubtnut.com/l/_m8vgJokcPAvj


A. 65,1

B. 6.5

C. 0.65

D. None

Answer: C

Watch Video Solution

48. The probability of raining a day is ………….

A. 
−1

2

https://dl.doubtnut.com/l/_m8vgJokcPAvj
https://dl.doubtnut.com/l/_SSZUBRsHHWXw


B. 

C. 

D. None

Answer: B

Watch Video Solution

1

2

1

4

49. IF one side is chosen at random from the

sides of a right triangle, then the probability

that it is hypotenuse is ……………

https://dl.doubtnut.com/l/_SSZUBRsHHWXw
https://dl.doubtnut.com/l/_WnYdwFAxuT2B


A. 2

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

3

3

50. When a dice is thrown, the probability of

getting neither a prime nor composite

number is…………..

https://dl.doubtnut.com/l/_WnYdwFAxuT2B
https://dl.doubtnut.com/l/_WhKt5jxRI7vc


A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

1

3

1

2

1

6

51. When a coin is tossed the probability of

getting a tail or head is…….

https://dl.doubtnut.com/l/_WhKt5jxRI7vc
https://dl.doubtnut.com/l/_qm8PDjKi1mMo


A. 0

B. 

C. 

D. 1

Answer: C

Watch Video Solution

−1

2

1

2

52. Getting a tail or head…………

A. equally likely

https://dl.doubtnut.com/l/_qm8PDjKi1mMo
https://dl.doubtnut.com/l/_KaDjZO3oJHo3


B. unlikely

C. exclusive

D. None

Answer: A

Watch Video Solution

53. Getting a prime (or) composite

A. mutually exclusive

B. likely

https://dl.doubtnut.com/l/_KaDjZO3oJHo3
https://dl.doubtnut.com/l/_spPJAOQQnp1a


C. 0

D. None

Answer: A

Watch Video Solution

54. Getting a red card (or) black card is……..

A. mutually exclusive

B. more likely

C. less likely

https://dl.doubtnut.com/l/_spPJAOQQnp1a
https://dl.doubtnut.com/l/_z0qQla8CljIq


D. None

Answer: A

Watch Video Solution

55. P (sure events)=…………..

A. 1

B. 0

C. -1

D. 2

https://dl.doubtnut.com/l/_z0qQla8CljIq
https://dl.doubtnut.com/l/_vnl5KRqMZfss


Answer: A

Watch Video Solution

56. P ( Impossible events)=………….

A. 4

B. 3

C. -1

D. 0

Answer: D

https://dl.doubtnut.com/l/_vnl5KRqMZfss
https://dl.doubtnut.com/l/_cklHt9k63VmZ


Watch Video Solution

57. The probability of a face card from red

cards is……….

A. 

B. 

C. 

D. None

Answer: A

3

13

13

3

2

17

https://dl.doubtnut.com/l/_cklHt9k63VmZ
https://dl.doubtnut.com/l/_M170TlY9iZMx


Watch Video Solution

58. The probability of drawing a black king

from the deck is………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

14

1

3

1

2

1

26

https://dl.doubtnut.com/l/_M170TlY9iZMx
https://dl.doubtnut.com/l/_QxHWoginoLYW


59. The probability of drawing a black card

from the black cards is…………

A. 3

B. 2

C. 0

D. 1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QxHWoginoLYW
https://dl.doubtnut.com/l/_rZInPot72KX6


60. The probability of getting two tails when

two coins are tossed is………….

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

1

4

1

2

2

3

https://dl.doubtnut.com/l/_fgBrmDyTI0qN
https://dl.doubtnut.com/l/_ske6QIF4vbnw


61. There are………. Cards in a pack of playing

cards.

A. 19

B. 16

C. 52

D. 50

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ske6QIF4vbnw


62. IF P ( E ) =0.05, then P =………

A. 1.35

B. 0.95

C. 9.5

D. 1.5

Answer: B

Watch Video Solution

( ¯̄̄E)

https://dl.doubtnut.com/l/_5KMXHmF8CFVM


63. P ( G )= , P =………..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

17
(¯̄̄G)

13

17

3

17

7

17

1

17

https://dl.doubtnut.com/l/_7RqvnMLdVvm9


64. P (N) + P =…………

A. 0

B. 1

C. 3

D. 7

Answer: B

Watch Video Solution

( ¯̄̄N̄ )

https://dl.doubtnut.com/l/_96Sv9JXLXCZ8


65. A baby is born the probability that it is a

boy(or) girl is…………

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

2

1

3

1

2

https://dl.doubtnut.com/l/_5tj6OXKX21gg
https://dl.doubtnut.com/l/_muIaHYhDuJYD


66. Fill in the blacks: 

(i) The probability of an impossible event is

………. . 

(ii) The probability of a sure event is …….. . 

(iii) For any event E, P(E ) + P(not E)=……… . 

(iv) The probability of a possible but not a sure

event lies between .......... and ......... . 

(v) The sum of probabilities of all the

outcomes of an experiment is ......... .

A. 1

B. 2

https://dl.doubtnut.com/l/_muIaHYhDuJYD


C. 3

D. None

Answer: A

Watch Video Solution

67. Identify true statement.

A. 

B. 

C. 

0 ≤ P (E) ≤ 1

0 < P (E) < 2

9 ≤ P (E)

https://dl.doubtnut.com/l/_muIaHYhDuJYD
https://dl.doubtnut.com/l/_YZSYYtB9bLlG


D. None

Answer: A

Watch Video Solution

68. There are……………face cards.

A. 1

B. 2

C. 4

D. None

https://dl.doubtnut.com/l/_YZSYYtB9bLlG
https://dl.doubtnut.com/l/_GgDvn0QPbV3Z


Answer: D

Watch Video Solution

69. Probability can never be…………

A. 0

B. 1

C. 0.5

D. -2

Answer: D

https://dl.doubtnut.com/l/_GgDvn0QPbV3Z
https://dl.doubtnut.com/l/_tMdZKu7yboW3


Watch Video Solution

70. A dice is tossed once then the probability

of getting an even number or a multiple of 3

is………..

A. 

B. 

C. 

D. None

Answer: B

1

2

2

3

1

4

https://dl.doubtnut.com/l/_tMdZKu7yboW3
https://dl.doubtnut.com/l/_CeSOYI48qvMA


Watch Video Solution

71. The probability that a leap year has 53

sundays is…….

A. 

B. 

C. 

D. 

Answer: A

2

7

3

7

1

7

21

17

https://dl.doubtnut.com/l/_CeSOYI48qvMA
https://dl.doubtnut.com/l/_bHCdxZiEOeEM


Watch Video Solution

72. Two dice are thrown once together. What is

the probability of getting a doublet?

A. 

B. 

C. 

D. None

Answer: C

Watch Video Solution

1

4

1

2

1

6

https://dl.doubtnut.com/l/_bHCdxZiEOeEM
https://dl.doubtnut.com/l/_pY4dRaPEpGYC


73. P (E ) -1+ P =………..

A. -2

B. 0

C. 9

D. 2

Answer: B

Watch Video Solution

( ¯̄̄E)

https://dl.doubtnut.com/l/_pY4dRaPEpGYC
https://dl.doubtnut.com/l/_xR4MeEl1qDHd
https://dl.doubtnut.com/l/_VEqberUHdvwV


74. P (E )=0.455 then P =…………..

A. 0.545

B. 0.145

C. 0.345

D. None

Answer: A

Watch Video Solution

( ¯̄̄E)

75. =………..P(A1)

https://dl.doubtnut.com/l/_VEqberUHdvwV
https://dl.doubtnut.com/l/_Db2zKUclv8Yf


Probability Multiple Choice Question

A. 

B. A

C. 1-P(A)

D. None

Answer: C

Watch Video Solution

ϕ

https://dl.doubtnut.com/l/_Db2zKUclv8Yf


1. The probability that a leap year will have 52

tuesdays is………..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

7

3

7

2

7

5

7

https://dl.doubtnut.com/l/_SNJvHz1qJoAM
https://dl.doubtnut.com/l/_BeD8Y4gyYUIQ


2. The probability of drawing a card which is at

least a spade (or) a king from a well shuffled

pack of cards is……..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

13

2

13

1

13

5

13

https://dl.doubtnut.com/l/_BeD8Y4gyYUIQ
https://dl.doubtnut.com/l/_DFbktgZ8JQVN


3. IF A,B,C are three mutually exclusive events

of a trial such that P(A)=2P(B)=3P( C) then

P(A)=…….

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

11

6

5

11

6

11

https://dl.doubtnut.com/l/_DFbktgZ8JQVN


4. A bag contains 3 red,4 white and 5 blue

balls. If two balls are drawn at random. The

probability that they are of different colours

is……….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

47

66

10

33

5

22

2

11

https://dl.doubtnut.com/l/_w5XtnF78mtNg


5. A card is drawn at random from normal pack

of cards. The probability that it is either a

spade or a queen is……….

A. 

B. 

C. 

D. 1

Answer: B

13

4

4

13

1

2

https://dl.doubtnut.com/l/_w5XtnF78mtNg
https://dl.doubtnut.com/l/_aKM5ucC9o0nb


Watch Video Solution

6. The probability that a leap year have 53

sundays is………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7

2

1

2

2

7

5

2

https://dl.doubtnut.com/l/_aKM5ucC9o0nb
https://dl.doubtnut.com/l/_lsI8dQBpFT4Q


7. The probabilities of solving a problem by

three students A,B,C independently are

. The probability that the problem

will be solved is………

A. 

B. 

C. 

D. 

Answer: B

, ,
1

3

1

4

1

5

1

60

36

60

48

60

57

60

https://dl.doubtnut.com/l/_lsI8dQBpFT4Q
https://dl.doubtnut.com/l/_8hCywIaWdIc8


Watch Video Solution

8. IF P( )=0.65, P(A B)=0.15, then

P(A)+P(B)=……….

A. 0.6

B. 0.8

C. 1.2

D. 1.4

Answer: B

A ∪ B ∩

https://dl.doubtnut.com/l/_8hCywIaWdIc8
https://dl.doubtnut.com/l/_oqmL5M1CSPmE


Watch Video Solution

9. The probability of getting a number

between 1 and 100 which is divisible by one

and itself only is……

A. 

B. 

C. 

D. 

Answer: D

98

25

1

2

97

25

25

98

https://dl.doubtnut.com/l/_oqmL5M1CSPmE
https://dl.doubtnut.com/l/_ToOdVPTglUGf


Watch Video Solution

10. The probability of getting atleast two

heads, when tossing a coin three times is……….

A. 

B. 2

C. 

D. 1

Answer: A

Watch Video Solution

1

2

1

4

https://dl.doubtnut.com/l/_ToOdVPTglUGf
https://dl.doubtnut.com/l/_5y7iIe6RGGso


11. IF P(A)=0.4,P(A B)=0.7 and A,B are

independent, then P(B)=……..

A. 1

B. -1

C. 

D. 

Answer: C

Watch Video Solution

∪

1

2

1

4

https://dl.doubtnut.com/l/_5y7iIe6RGGso
https://dl.doubtnut.com/l/_fX7xjoueuYVR


12. Card is drawn at random from a packet of

100 cards numbered 1 to 100. The probability

of drawing a number which is a square is………..

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

4

1

5

1

10

https://dl.doubtnut.com/l/_fX7xjoueuYVR
https://dl.doubtnut.com/l/_LpUWMxkQRNPC


13. Three balls are drawn at random from

collection of 7 white, 12 green and 4 red balls,

The probability that each ball is of different

colours is……….

A. 

B. 

C. 

D. None

Answer: A

48

253

8

253

9

257

https://dl.doubtnut.com/l/_LpUWMxkQRNPC
https://dl.doubtnut.com/l/_CDoxyYQRPqsG


Watch Video Solution

14. At a selection, the probability of selection

of A is  and that of B is , The probability

that both if them would not be selected is……….

A. 

B. 

C. 

D. None

Answer: B

1

7

1

5

2

5

24

35

13

15

https://dl.doubtnut.com/l/_CDoxyYQRPqsG
https://dl.doubtnut.com/l/_WCfD4ccQezID


Watch Video Solution

15. Three mangoes and three apples are in a

box. IF two fruits are chosen at random the

probability that one is a mango and the other

is an apple is……….

A. None

B. 

C. 

D. 

3

5

5

6

1

36

https://dl.doubtnut.com/l/_WCfD4ccQezID
https://dl.doubtnut.com/l/_TlT9YH4UW8iP


Answer: B

Watch Video Solution

16. A card is taken out of a pack of 52 cards

numbered 2 to 53. The probability that the

number on the card is a prime less than 20

is………….

A. 

B. 

C. 

2

13

13

2

1

4

https://dl.doubtnut.com/l/_TlT9YH4UW8iP
https://dl.doubtnut.com/l/_SRBSjEVSLrBm


D. None

Answer: A

Watch Video Solution

17. The probabilities of a problem being solved

by two students are  and . The probability

of the problem being solved is………

A. 

B. 

1

2

1

3

2

3

4

3

https://dl.doubtnut.com/l/_SRBSjEVSLrBm
https://dl.doubtnut.com/l/_OtC3HPSeyf6h


C. 

D. 1

Answer: A

Watch Video Solution

1

3

18. When two dice are thrown, the probability

of getting equal number is…………..

A. 6

B. 
1

6

https://dl.doubtnut.com/l/_OtC3HPSeyf6h
https://dl.doubtnut.com/l/_y0lJ5bqPxuM8


C. 

D. 

Answer: B

Watch Video Solution

1

5

1

2

19. When two balls are drawn from a bag

containing 2 white, 4 red and 6 black balls, the

chance for both of them to be red is……………

A. 
1

10

https://dl.doubtnut.com/l/_y0lJ5bqPxuM8
https://dl.doubtnut.com/l/_MLlfxYoSamt4


B. 

C. 

D. 

Answer: C

Watch Video Solution

1

5

1

11

1

2

20. Two dice thrown simultaneously. The

probability of getting even numbers on both

the dice is…………

https://dl.doubtnut.com/l/_MLlfxYoSamt4
https://dl.doubtnut.com/l/_f3489llYZXO6


Exercise

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

1

4

1

2

1

3

https://dl.doubtnut.com/l/_f3489llYZXO6


1. Outcomes of which of the following

experiments are equally likely ?(1)Getting a

digit 1, 2, 3, 4, 5 or 6 when a dice is rolled.

(2)Selecting a different colour ball from a bag

of 5 red balls, 4 blue balls and 1

blackball.Winning in a game of carrom.(3)

Units place of a two digit number selected

may be 0, 1, 2, 3, 4, 5, 6, 7, 8 or 9.(4) Selecting a

different colour ball from a bag of 10 red balls,

10 blue balls and 10 black balls.(5) Raining on a

particular day of July.Are the outcomes of

every experiment equally likely?

https://dl.doubtnut.com/l/_1CJJSYDoOHQv


Watch Video Solution

2. Give examples of 5 experiments that have

equally likely outcomes and five more

examples that do not have equally likely

outcomes.

Watch Video Solution

3. Think of 5 situations with equally likely

events and find the sample space.

https://dl.doubtnut.com/l/_1CJJSYDoOHQv
https://dl.doubtnut.com/l/_hXX7yYTr20y0
https://dl.doubtnut.com/l/_lYKqPwp3NCZ4


Watch Video Solution

4. Is getting a head complementary to getting

a tail ? Give reasons.

Watch Video Solution

5. In case of a die is getting a 1 complementary

to events getting 2, 3,4, 5,6 ? Give reasons for

your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_lYKqPwp3NCZ4
https://dl.doubtnut.com/l/_JkfPEPT0Obvi
https://dl.doubtnut.com/l/_XZJZT8aYZkMG


6. Write of five new pair of events that are

complementary.

Watch Video Solution

7. A child has a dice whose six faces show the

letters A,B,C,D,E and F. The dice is thrown once.

What is the probability of getting D?

Watch Video Solution

https://dl.doubtnut.com/l/_CFLSfEap8o4O
https://dl.doubtnut.com/l/_JD6fDrTmwPBl


8. Which of the following cannot be the

probability of an event? 

2.3

Watch Video Solution

9. Which of the following cannot be the

probability of an event? 

-1.5

Watch Video Solution

https://dl.doubtnut.com/l/_JZXmixDIZUdQ
https://dl.doubtnut.com/l/_HG1OEYhItu0L
https://dl.doubtnut.com/l/_UfFEAAl1pHkh


10. Which of the following cannot be the

probability of an event? : 15%

Watch Video Solution

11. Which of the following cannot be the

probability of an event? 

0.7

Watch Video Solution

https://dl.doubtnut.com/l/_UfFEAAl1pHkh
https://dl.doubtnut.com/l/_9hBNrNYmQ0dU


12. You have a single deck of well shuffled

cards. Then, 

What is the probability that the card drawn

will be a queen?

Watch Video Solution

13. What is the probability that it is face card?

Watch Video Solution

https://dl.doubtnut.com/l/_pjNmFuq3qXjY
https://dl.doubtnut.com/l/_kDxvmLibZnlv


14. What is the probability that it is a spade?

Watch Video Solution

15. What is the probability that is the face card

of spades?

Watch Video Solution

16. What is the probability it is not a face card?

Watch Video Solution

https://dl.doubtnut.com/l/_QAM90GRcQGaF
https://dl.doubtnut.com/l/_DrSqGD47SNbi
https://dl.doubtnut.com/l/_ozXxE1oBjBOE


17. Why is tossing a coin considered to be a

fair way of deciding which term should get the

ball at the beginning of any game?

Watch Video Solution

18. Can  be the probability of an event?

Explain.

Watch Video Solution

7

2

https://dl.doubtnut.com/l/_ozXxE1oBjBOE
https://dl.doubtnut.com/l/_SNZgGuQxm3CI
https://dl.doubtnut.com/l/_rMx8acS9YxR3
https://dl.doubtnut.com/l/_Voovq3Cz0mTO


19. Which of the following arguments are

correct and which are not correct? Give

reasons. If two coins are tossed

simultaneously, there are three possible

outcomes-tow heads, two tails or one of each.

Therefore, for each of these outcomes, the

probability is .

Watch Video Solution

1

3

20. Which of the following arguments are

correct and which are not correct? Give

https://dl.doubtnut.com/l/_Voovq3Cz0mTO
https://dl.doubtnut.com/l/_HcSEFouaVhCY


reasons. If a dice is thrown, there are two

possible outcomes an odd number or an even

number. Therefore, the probability of getting

an odd number is .

Watch Video Solution

1

2

21. Find the probability of getting a head when

a coin is tossed once. Also find the probability

of getting a tail.

Watch Video Solution

https://dl.doubtnut.com/l/_HcSEFouaVhCY
https://dl.doubtnut.com/l/_J6VqeAGkT7Ol
https://dl.doubtnut.com/l/_8XGbix35rpBj


22. A bag contains a red ball, a blue ball and an

yellow ball, all the balls being of the same size

. Manasa takes out a ball from the bag without

looking into it. What is the probability that

she takes a (i) yellow ball? (ii) red ball? (iii) blue

ball?

Watch Video Solution

23. Suppose we throw a dice once. What is the

probability of getting a number greater than

4?

https://dl.doubtnut.com/l/_8XGbix35rpBj
https://dl.doubtnut.com/l/_7U0TvRBeoOOD


Watch Video Solution

24. Suppose we throw a dice once. What is the

probability of getting a number less than or

equal to 4?

Watch Video Solution

25. One card is drawn from a well-shuffled deck

of 52 cards. Calculate the probability that the

card will not be an ace.

https://dl.doubtnut.com/l/_7U0TvRBeoOOD
https://dl.doubtnut.com/l/_U1QSu0Ba3DGB
https://dl.doubtnut.com/l/_bxfwNWfEZr3j


Watch Video Solution

26. Sangeeta and Reshma , play a tennis

match. It is known that the probability of

sangeeta winning the match is 0.62. What is

the probability of Reshma winning the match?

Watch Video Solution

27. Sarada and Hamida are friends. What is the

probability that both will have different

birthdays?

https://dl.doubtnut.com/l/_bxfwNWfEZr3j
https://dl.doubtnut.com/l/_mvi25CkBp0MD
https://dl.doubtnut.com/l/_8Aty55piYm4D


Watch Video Solution

28. There are 40 students in Class X of a

school of whom 25 are girls and 15 are boys.

The class teacher has to select one student as

a class representative. She writes the name of

each student on a separate cards, the cards

being identical . Then she puts cards in a box

and stirs them thoroughly. She then draws

one card from the box.What is the probability

that the name written on the card is the name

of a girl

https://dl.doubtnut.com/l/_8Aty55piYm4D
https://dl.doubtnut.com/l/_dqpK23UT6cqG


Watch Video Solution

29. Complete the following statements: 

Probability of an event E+Probability of the

event 'not E'=_______.

Watch Video Solution

30. Complete the following statements: 

The probability of an event that cannot

https://dl.doubtnut.com/l/_dqpK23UT6cqG
https://dl.doubtnut.com/l/_MlvXBg7VRWit
https://dl.doubtnut.com/l/_ME3rkHzP9uEC


happen is_______. 

Such as event is called an_________.

Watch Video Solution

31. Complete the following statements: 

The probability of an event that is certain to

happen is __ such an event is called ________.

Watch Video Solution

https://dl.doubtnut.com/l/_ME3rkHzP9uEC
https://dl.doubtnut.com/l/_ZL4vflcXVIUf


32. Complete the following statements: 

The sum of the probabilities of all the

elementary events of an experiments is ___.

Watch Video Solution

33. Complete the following statements: 

The probability of an event is greater than or

equal to _______ and less than or equal to ______.

Watch Video Solution

https://dl.doubtnut.com/l/_HhUFiHE3Y8kH
https://dl.doubtnut.com/l/_Bo7eOlVuIx8o
https://dl.doubtnut.com/l/_VbTkhFoIBMXq


34. Which of the following experiments have

equally likely outcomes? Explain. 

A driver attempts to start a car. The car starts

or does not start.

Watch Video Solution

35. Which of the following experiments have

equally likely outcomes? Explain. 

A player attempts to shoot a basket-ball.

She/HE shoots or misses the shot.

Watch Video Solution

https://dl.doubtnut.com/l/_VbTkhFoIBMXq
https://dl.doubtnut.com/l/_GBzy5lStToZJ


36. Which of the following experiments have

equally likely outcomes? Explain. 

A trial is made to answer a true -false

question. The answer is right or wrong.

Watch Video Solution

37. Which of the following experiments have

equally likely outcomes? Explain. 

A baby is born. IT is a boy or a girl.

https://dl.doubtnut.com/l/_GBzy5lStToZJ
https://dl.doubtnut.com/l/_CpnTytRrof6A
https://dl.doubtnut.com/l/_knWHWXuY9iLP


Watch Video Solution

38. IF P( E ) =.05, what is the probability of 'not

E'?

Watch Video Solution

39. A bag contains lemon flavoured candies

only. Malini takes out one candy without

looking into the bag what is the probability

that she takes out 

an orange flavoured candy?

https://dl.doubtnut.com/l/_knWHWXuY9iLP
https://dl.doubtnut.com/l/_cnTRCx5xXHsM
https://dl.doubtnut.com/l/_TNEzW4jU0x1x


Watch Video Solution

40. Rahim removes all the hearts from the

cards. What is the probability of 

picking out an ace from the remaining pack.

Watch Video Solution

41. Rahim removes all the hearts from the

cards. What is the probability of 

Picking out the ace of hearts.

https://dl.doubtnut.com/l/_TNEzW4jU0x1x
https://dl.doubtnut.com/l/_GZkJd0IPFE2H
https://dl.doubtnut.com/l/_1237TxZDfxiv


Watch Video Solution

42. Rahim removes all the hearts from the

cards. What is the probability of 

picking out a card that is not a heart.

Watch Video Solution

43. Rahim removes all the hearts from the

cards. What is the probability of 

Picking out the ace of hearts.

Watch Video Solution

https://dl.doubtnut.com/l/_1237TxZDfxiv
https://dl.doubtnut.com/l/_PuvAUWp40PWq
https://dl.doubtnut.com/l/_K1letKvowjnJ


44. It is given that in a group of 3 students,

the probability of 2 students not having the

same birthday is 0.992.What is the probability

that the 2 students have the same birthday?

Watch Video Solution

45. A die is thrown once. Find the probability

of getting a prime number,

Watch Video Solution

https://dl.doubtnut.com/l/_K1letKvowjnJ
https://dl.doubtnut.com/l/_RLl2tC161SmG
https://dl.doubtnut.com/l/_oNAJryMnbKtY


46. A die is thrown once. Find the probability

of getting a number lying between 2 and 6.

Watch Video Solution

47. A die is thrown once. Find the probability

of getting an odd number.

Watch Video Solution

https://dl.doubtnut.com/l/_oNAJryMnbKtY
https://dl.doubtnut.com/l/_SPwN5sunZ5ti
https://dl.doubtnut.com/l/_BWWyxhcfGrA4


48. What is the probability of drawing out a

red king from a deck of cards?

Watch Video Solution

49. Make 5 more problems of this using dice,

cards or birthdays and discuss with friends

and teacher about their solutions.

Watch Video Solution

https://dl.doubtnut.com/l/_yWEQMpWsmaNp
https://dl.doubtnut.com/l/_9sneIMMAatlB


50. A box contains 3 blue,2 white and 4 red

marbles. IF a marble is drawn at random from

the box, what is the probability that it will be

white?

Watch Video Solution

51. Harpreet tosses two different coins

simultaneously (say, one is of Rs1 and other of

Rs2). What is the probability that she gets at

least one head?

https://dl.doubtnut.com/l/_YUgtKkc4UGQH
https://dl.doubtnut.com/l/_Ff3ZG9rR0chp


Watch Video Solution

52. In a musical chair game, the person playing

the music has been advised to stop playing

the music at any time within 2 minutes after

she starts playing . What is the probability

that the music will stop within the first half-

minute starting?

Watch Video Solution

https://dl.doubtnut.com/l/_Ff3ZG9rR0chp
https://dl.doubtnut.com/l/_GH6HcmtPV5JF


53. A missing helicopter is reported to have

crashed somewhere in the rectangular region

as shown in the figure. What is the probability

that it crashed inside the lake shown in the

figure? 

Watch Video Solution

54. A cartoon consists of 100 shirts of which 88

are good, 8 have minor defects and 4 have

https://dl.doubtnut.com/l/_jUQnB3mUgVdD
https://dl.doubtnut.com/l/_bYPZvb00WJ7i


major defects. Jhony, a trader, will only accept

the shirts which are good, but Sujatha,

another trader, will only reject the shirts will

have major defects. One shirt is selected at

random from the carton. What is the

probability that it is acceptable to Jhony?

Watch Video Solution

55. A cartoon consists of 100 shirts of which 88

are good, 8 have minor defects and 4 have

major defects. Jhony, a trader, will only accept

https://dl.doubtnut.com/l/_bYPZvb00WJ7i
https://dl.doubtnut.com/l/_rhuV44u3PRQx


the shirts which are good, but Sujatha,

another trader, will only reject the shirts will

have major defects. One shirt is selected at

random from the carton. What is the

probability that it is acceptable to Sujatha?

Watch Video Solution

56. Two dice, one red and one white , are

thrown at the same time. Write down all the

possible outcomes. What is the probability

https://dl.doubtnut.com/l/_rhuV44u3PRQx
https://dl.doubtnut.com/l/_Pou9zXKgGqR7


that the sum of the two numbers appearing

on the top of the dice is 8?

Watch Video Solution

57. A bag contains 3 red balls and 5 black balls.

A ball is drawn at random from the bag. What

is the probability that the ball drawn is not

red?

Watch Video Solution

https://dl.doubtnut.com/l/_Pou9zXKgGqR7
https://dl.doubtnut.com/l/_PMBLS1bJN9bH


58. A box contains 5 red marbles, 8 white

marbles and 4 green marbles. One marble is

taken out of the box at random. What is the

probability that the marble taken out will be

red?

Watch Video Solution

59. A kiddy bank contains hundred 50p coins,

fifity Rs1 coins, twenty Rs2 coins and ten Rs5

coins. IF it is equally likely that one of the

https://dl.doubtnut.com/l/_SdBcCcCHOqFe
https://dl.doubtnut.com/l/_6uFHKxKKomVx


coins will fall out when the bank is turned

upside down, what is the probability that the

coin will be a 50p coins?

Watch Video Solution

60. A kiddy bank contains hundred 50p coins,

fifty ₹1 coins, twenty ₹2 coins and ten ₹5 coins.

If it is equally likely that one of the coins will

fall out when the bank is turned upside down,

what is the probability that the coin (ii) will

not be a ₹5 coin?

https://dl.doubtnut.com/l/_6uFHKxKKomVx
https://dl.doubtnut.com/l/_0Z2KVejdedBF


Watch Video Solution

61. Gopal buys a fish from a shop for his

aquarium. The shopkeeper takes out one fish

at random from a tank containing 5 male fish

and 8 female fish (See figure). What is the

probability that the fish taken out is a male

fish? 

Watch Video Solution

https://dl.doubtnut.com/l/_0Z2KVejdedBF
https://dl.doubtnut.com/l/_GJhyZWvzAxfs


62. A game of chance consists of spinning an

arrow which comes to rest pointing at one of

the numbers 1,2,3,4,5,6,7,8 (See figure), and

these are equally likely outcomes. What is the

probability that it will point at (i) 8 ? (ii) an

odd number? (iii) a number greater than 2?

(iv) a number less than 9? 

Watch Video Solution

https://dl.doubtnut.com/l/_bgUWN6nimszu


63. A game of chance consists of spinning an

arrow which comes to rest pointing at one of

the numbers 1,2,3,4,5,6,7,8 (See figure), and

these are equally likely outcomes. What is the

probability that it will point at (i) 8 ? (ii) an

odd number? (iii) a number greater than 2?

(iv) a number less than 9? 

Watch Video Solution

https://dl.doubtnut.com/l/_7k0f3kZDEX3l


64. A game of chance consists of spinning an

arrow which comes to rest pointing at one of

the numbers 1,2,3,4,5,6,7,8 (See figure), and

these are equally likely outcomes. What is the

probability that it will point at (i) 8 ? (ii) an

odd number? (iii) a number greater than 2?

(iv) a number less than 9? 

Watch Video Solution

https://dl.doubtnut.com/l/_BUHzREVXpTsG


65. A game of chance consists of spinning an

arrow which comes to rest pointing at one of

the numbers 1,2,3,4,5,6,7,8 (See figure), and

these are equally likely outcomes. What is the

probability that it will point at (i) 8 ? (ii) an

odd number? (iii) a number greater than 2?

(iv) a number less than 9? 

Watch Video Solution

https://dl.doubtnut.com/l/_Z7WICmmkpSv6


66. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

king of red colour?

Watch Video Solution

67. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

face card?

Watch Video Solution

https://dl.doubtnut.com/l/_3n5nQV4Ty7Kz
https://dl.doubtnut.com/l/_0VzZYHlixVPP
https://dl.doubtnut.com/l/_rpcCGeS1BMtH


68. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting a

red face card?

Watch Video Solution

69. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting the

jack of hearts?

Watch Video Solution

https://dl.doubtnut.com/l/_rpcCGeS1BMtH
https://dl.doubtnut.com/l/_nXYscJbRVfIx
https://dl.doubtnut.com/l/_EA6fR76OGhds


70. One card is drawn from a well-shuffled

dock of 52 cards. Find the probability of

getting a spade?

Watch Video Solution

71. One card is drawn from a well-shuffled dock

of 52 cards. Find the probability of getting the

queen of diamonds?

Watch Video Solution

https://dl.doubtnut.com/l/_EA6fR76OGhds
https://dl.doubtnut.com/l/_0n4W8KZgxMnP


72. Five cards -the ten , jack queen, king and

ace of diamond, are well shuffled with their

face downwards. One card is then picked up at

random. 

What is the probability that the card is the

queen?

Watch Video Solution

73. Five cards -the ten , jack queen, king and

ace of diamond, are well shuffled with their

https://dl.doubtnut.com/l/_vCJoZ3xfjFzl
https://dl.doubtnut.com/l/_a0RAhQFKaoeW


face downwards. One card is then picked up at

random. 

IF the queen is drawn and put aside, what is

the probability that the second card picked is

(a) a ace? (b) a queen?

Watch Video Solution

74. 12 defective pens are accidentally mixed

with 132 good ones. IT is not possible to just

look at a pen and tell whether or not it is

defective. One pen is taken out at random

https://dl.doubtnut.com/l/_a0RAhQFKaoeW
https://dl.doubtnut.com/l/_dQsFDhwd1ReO


from this lot. Determine the probability that

the pen taken out is a good one.

Watch Video Solution

75. A lot of 20 bulbs contain 4 defective ones.

One bulb is drawn at random from the lot.

What is the probability that this bulb is

defective? Suppose the bulb is drawn is

previous case is not defective and is not

replaced. Now one bulb is drawn at random

https://dl.doubtnut.com/l/_dQsFDhwd1ReO
https://dl.doubtnut.com/l/_xRBIsKoa4srs


from the rest. What is the probability that this

bulb is not defective?

Watch Video Solution

76. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

random from the box, find the probability that

it bears a two digit number?

Watch Video Solution

https://dl.doubtnut.com/l/_xRBIsKoa4srs
https://dl.doubtnut.com/l/_f58ywgA5buFE


77. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

random from the box, find the probability that

it bears a perfect square number.

Watch Video Solution

78. A box contains 90 discs which are

numbered from 1 to 90. IF one disc is drawn at

random from the box, find the probability that

it bears a number divisible by 5.

https://dl.doubtnut.com/l/_cbbpurvMaYNK
https://dl.doubtnut.com/l/_2GE4vOcmrL5h


Watch Video Solution

79. Suppose you drop a die at random on the

rectangular region shown in figure. What is

the probability that it will land inside the circle

with diameter 1m? 

Watch Video Solution

80. A lot consists of 144 ball pens of which 20

are defective and the others are good. The

https://dl.doubtnut.com/l/_2GE4vOcmrL5h
https://dl.doubtnut.com/l/_PQZcA1GQTy7d
https://dl.doubtnut.com/l/_TEdeJJ4Ekiyd


shopkeeper drawn one pen at random and

gives it to Sudha. What is the probability that

She will not buy it?

Watch Video Solution

81. Two dice are rolled simultaneously and

counts are added 

A student argues that there are 11 possible

outcomes 2,3,4,5,6,7,8,9,10,11 and 12. Therefore,

each of them has a probabilty . Do you

agree with this argument? Justify your answer.

1

11

https://dl.doubtnut.com/l/_TEdeJJ4Ekiyd
https://dl.doubtnut.com/l/_fEC40kYe0PG5


Watch Video Solution

82. A game consists of tossing a one rupee

coin 3 times and noting its outcome each

time. Hanif wins if all the tosses give the same

result i.e, three heads or three tails, and loses

other-wise. Calculate the probability that Hanif

will lose the game.

Watch Video Solution

https://dl.doubtnut.com/l/_fEC40kYe0PG5
https://dl.doubtnut.com/l/_4mD1d9ocMvqe


83. A dice is thrown twice. What is the

probability that (i) 5 will not come up either

time? (ii) 5 will come up atleast once? [Hint:

Throwing a dice twice and throwing two dice

simultaneously are treated as the same

experiment].

Watch Video Solution

84. Two customers Shyam and Ekta are visiting

a particular shop in the same week (Tuesday to

https://dl.doubtnut.com/l/_7SvT1T4CU98j
https://dl.doubtnut.com/l/_RFajENkQfLOq


Saturday). Each is equally likely to visit the

shop on the same day?

Watch Video Solution

85. A bag contains 5 red balls and some blue

balls, If the probability of drawing a blue ball is

double that of a red ball, Find the number of

blue balls in the bag.

Watch Video Solution

https://dl.doubtnut.com/l/_RFajENkQfLOq
https://dl.doubtnut.com/l/_XLJCYUVALd0t


86. A box contains 12 balls out of which x are

black, IF one ball is drawn at random from the

box, what is the probability that it will be a

black ball? If 6 more black balls are put in the

box, the probability of drawing a black ball is

now double of what it was before Find x.

Watch Video Solution

87. A jar contains 24 marbles, some are green

and others are blue. IF a marble is drawn at

https://dl.doubtnut.com/l/_s47h0Lajhbni
https://dl.doubtnut.com/l/_t6oFpkzX1Ixe


random from the jar, the probability that it is

green is . Find the number of blue marbles

in the jar.

Watch Video Solution

2/3

88. When die is rolled once unbiased what is

the probability of getting a multiple of 3 out

of possible outcomes?

Watch Video Solution

https://dl.doubtnut.com/l/_t6oFpkzX1Ixe
https://dl.doubtnut.com/l/_25PIC694efMK


89. The probability of an event is always in

between 0 and 1. Why?

Watch Video Solution

90. Find the probability of getting the same

number on the both the dice when two dice

are thrown.

Watch Video Solution

https://dl.doubtnut.com/l/_off7Vdbuew3E
https://dl.doubtnut.com/l/_sH27gaQ9Gwd1


91. Find the probability of getting a prime

number, when a card drawn at random from

the numbered cards from 1 to 25.

Watch Video Solution

92. From the first 50 natural numbers, find the

probability of randomly selected number is a

multiple of 3.

Watch Video Solution

https://dl.doubtnut.com/l/_eRJCGMpRlgci
https://dl.doubtnut.com/l/_GKC4VNyORt9v
https://dl.doubtnut.com/l/_cvpQAEBTDWLy


93. When a dice is rolled, the probability of

getting a composite number is………….

Watch Video Solution

94. What is the probability of getting exactly

two heads, when three coins tossed

simultaneously?

Watch Video Solution

https://dl.doubtnut.com/l/_cvpQAEBTDWLy
https://dl.doubtnut.com/l/_46B1zk63VOCv


95. From English alphabet if a letter is choosen

at random, then find the probability that the

letter is a consonant.

Watch Video Solution

96. Which of the following are equally likely

events?

Watch Video Solution

https://dl.doubtnut.com/l/_Qr6OKe875TDx
https://dl.doubtnut.com/l/_pVhe9OWKwEbD


97. When a die is rolled, the probability of

getting an odd prime number is …………….

Watch Video Solution

98. There are 12red, 18 blue and 6 white balls in

a box, when balls is drawn at random from the

box, what is the probability of not getting a

red ball?

Watch Video Solution

https://dl.doubtnut.com/l/_ifPaognQeeOG
https://dl.doubtnut.com/l/_VkMZ1aHCig7S
https://dl.doubtnut.com/l/_ErJS5iQ8vNOL


99. When a card is drawn from a well shuffled

deck of 52 cards, then find the probability of

NOT getting a red faced card.

Watch Video Solution

100. There are 5 red balls, 4 green balls and 6

yellow balls in a box. IF a ball is selected at

random, what is the probability of not getting

a yellow ball?

Watch Video Solution

https://dl.doubtnut.com/l/_ErJS5iQ8vNOL
https://dl.doubtnut.com/l/_rJOXuGiPc3cY


101. One card is selected from a well shuffled

deck of 52 cards. Find the probability of

getting a red card with prime number.

Watch Video Solution

102. From the following data. Find the

probability of selecting 'B' blood group

student . 

Watch Video Solution

https://dl.doubtnut.com/l/_ZdafV3PNhdAP
https://dl.doubtnut.com/l/_YDgEZqA8w1bW


103. What is the probability of a number

picked from first twenty natural numbers is

even composite number?

Watch Video Solution

104. A bag contains balls which are numbered

from 1 to 50. A ball Is drawn at random from

the bag, the probability that it bears a two

digit number multiple of 7.

Watch Video Solution

https://dl.doubtnut.com/l/_YDgEZqA8w1bW
https://dl.doubtnut.com/l/_pFyIcBw83RVn
https://dl.doubtnut.com/l/_sK4MLijoEZTf


105. A box contains 4 red balls, 5 green balls

and P white balls. If the probability of

randomly picked ball from the box to be a red

ball is , then find the number of white balls.

Watch Video Solution

1

3

106. A bag contains 7 red, 5 white and 6 black

balls. A ball is drawn from the bag at random,

https://dl.doubtnut.com/l/_sK4MLijoEZTf
https://dl.doubtnut.com/l/_M89uuZ25WgaH
https://dl.doubtnut.com/l/_guBJ3kgDSIhJ


find the probability that the ball drawn is not

black.

Watch Video Solution

107. There are 100 flash cards labelled from 1

to 100 in a bag. When a card is drawn from the

bag at random, what is the probability of

getting………. 

a card with prime number from possible

outcomes?

Watch Video Solution

https://dl.doubtnut.com/l/_guBJ3kgDSIhJ
https://dl.doubtnut.com/l/_9SpGeLekxDYM


108. A shopkeeper has 100 memory cards in a

box. Among then, 15 memory cards are

defective. When a person came to the shop to

buy a memory card, the shopkeeper drew a

memory card at random from the box. Then, 

what is the probability that this memory card

is defective?

Watch Video Solution

https://dl.doubtnut.com/l/_9SpGeLekxDYM
https://dl.doubtnut.com/l/_pay8LOJAoGDH


109. A bag contains 5 red balls and some blue

balls, If the probability of drawing a blue ball is

double that of a red ball, Find the number of

blue balls in the bag.

Watch Video Solution

110. Two dice are rolled at same time and the

sum of the numbers appearing on them is

noted. Find the probability of getting each

sum from 3 to 5 separately.

https://dl.doubtnut.com/l/_ogqDABTUt9GF
https://dl.doubtnut.com/l/_k2xL9usAHVOM


Watch Video Solution

111. A bag contains some square cards. A prime

number between 1 and 100 has been written

on each card. Find the probability of getting a

card that the sum of the digits of prime

number written on it, is 8.

Watch Video Solution

112. From the deck of 52 cards, if a card is

randomly chosen , find the probability of

https://dl.doubtnut.com/l/_k2xL9usAHVOM
https://dl.doubtnut.com/l/_95397T2k73OZ
https://dl.doubtnut.com/l/_pfxotZKSJKyu


getting a card with a prime number on it?

Watch Video Solution

113. If two dice are thrown at the same time,

find the probability of getting sum of the dots

on top is prime.

Watch Video Solution

114. From a pack of 52 playing cards, Jacks,

Queens, Kings and Aces of red colour are

https://dl.doubtnut.com/l/_pfxotZKSJKyu
https://dl.doubtnut.com/l/_jlA3rW1ymsEn
https://dl.doubtnut.com/l/_xNAm5axCzRFe


removed. From the remaining, a card is drawn

at random. Find the probability that the card

drawn is (i) a black queen,(iii) a red card.

Watch Video Solution

115. Suppose you drop a die at random on the

rectangular region shown in figure. What is

the probability that it will land inside the circle

with diameter 1m? 

Watch Video Solution

https://dl.doubtnut.com/l/_xNAm5axCzRFe
https://dl.doubtnut.com/l/_nxF80zyPuz4e


116. In a class 32 students out of 60 take tea.

So find the probability of choosing randomly a

student who doesn't take tea.

Watch Video Solution

117. IF P( E) =  what is the probability of "

not E"?

Watch Video Solution

3/4

https://dl.doubtnut.com/l/_nxF80zyPuz4e
https://dl.doubtnut.com/l/_36qZqsDoHEMx
https://dl.doubtnut.com/l/_Qsj9mOiuDIlR
https://dl.doubtnut.com/l/_3ueapFet5He2


118. There are 3 red and 4 white balls in a bag.

If a ball is taken randomly then calculate the

probability of it to be a red ball.

Watch Video Solution

119. Find the probability of existing 53 sundays

in a common year.

Watch Video Solution

https://dl.doubtnut.com/l/_3ueapFet5He2
https://dl.doubtnut.com/l/_eilAmr2Bc1em


120. In a 50 marks examination,there is 80%

possibility to pass in that exam. So find the

probability for pass in exam.

Watch Video Solution

121. A bag contains 5 red and 8 white balls . If a

ball is drawn a random from the bag. What is

the probability that it will be 

(i) white ball (ii) not to be white ball.

Watch Video Solution

https://dl.doubtnut.com/l/_Z8rvKq6ftumI
https://dl.doubtnut.com/l/_wYQqfXZ2LkGR


122. In a skinner numbered from 1-20, find the

probability of getting of following 

prime number.

Watch Video Solution

123. When a six face die is rolled find the

probability of getting the following 

getting less than five.

Watch Video Solution

https://dl.doubtnut.com/l/_wYQqfXZ2LkGR
https://dl.doubtnut.com/l/_a4c2X0lvRdwY
https://dl.doubtnut.com/l/_uavCSTHfEwmi


124. IF P ( E ) =0.26, then P =………..

A. 0.18

B. 0.28

C. 0.38

D. 

Answer:

Watch Video Solution

( ¯̄̄E)

P (E) = P( ¯̄̄E)

https://dl.doubtnut.com/l/_bhTWfZjAgSJH


125. IF a die is rolled, then the probability of

getting a prime number is…………

A. 1

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

3

1

6

https://dl.doubtnut.com/l/_plNm7yP1OjR4
https://dl.doubtnut.com/l/_jwvCUKfSJA55


126. Let E, , be the complimentary events, in

a random experiment , then which of the

following is true?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

¯̄̄E

P (E) + P( ¯̄̄E) = 2

P (E) + P( ¯̄̄E) = 3

P( ¯̄̄E) + P (E) = 1

P (E) + P( ¯̄̄E) = 4

https://dl.doubtnut.com/l/_jwvCUKfSJA55
https://dl.doubtnut.com/l/_z2ttXz02IggQ


127. Which one of the following cannot be the

probability of an event?

A. 

B. 

C. 0.7

D. 44291

Answer:

Watch Video Solution

2

3

4

5

https://dl.doubtnut.com/l/_z2ttXz02IggQ


128. On random selection, the probability of

getting a composite number among the

numbers from 51 to 100.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

5

1

5

3

5

2

5

https://dl.doubtnut.com/l/_CjKPZpb6WTjq


129. Let E,and , be the complimentary events.

IF P =0.65m then P (E )=……….

A. 0.4

B. 0.45

C. 0.35

D. 0.3

Answer:

Watch Video Solution

¯̄̄E

( ¯̄̄E)

https://dl.doubtnut.com/l/_MuOyRYkE3MqH
https://dl.doubtnut.com/l/_fi4EbScGeRgs


130. At what value of 'x',  may possible

probability of an event?

A. 2

B. 1

C. 4

D. 6

Answer:

Watch Video Solution

5

x

https://dl.doubtnut.com/l/_fi4EbScGeRgs


131. IF P ( E ) is the probability of an event E,

then……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0 < P (E) < 1

0 ≤ P (E) < 1

0 ≤ P (E) ≤ 1

0 < P (E) < = 1

https://dl.doubtnut.com/l/_uFNugbW0vXXg
https://dl.doubtnut.com/l/_PsFtFEtmXK9y


132. The probability of getting right answer to

a question is 0.68, the probability of getting a

wrong answer is ………….

A. 0.32

B. 0.32

C. 32

D. A and B

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PsFtFEtmXK9y
https://dl.doubtnut.com/l/_E8C7Dfq1kLGI


133. A letter is chosen from the word

“BAHUBALI”, the probability that it was not a

vowel is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

3

2

4

3

3

4

https://dl.doubtnut.com/l/_E8C7Dfq1kLGI


134. The probability is sure event is

A. 0

B. 

C. 1

D. undefined

Answer:

Watch Video Solution

^ ( )
1

2

https://dl.doubtnut.com/l/_xmAD9K5YJRw3


135. A die is thrown once. Find the probability

of getting a prime number,

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

3

1

2

2

3

1

6

https://dl.doubtnut.com/l/_yqx7gapV05vf
https://dl.doubtnut.com/l/_4vK13eSbrK2n


136. From a set of single digit natural

numbers, if a number is chosen at random

then the probability that the number chosen

is a multiple of 2, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

9

1

3

9

4

2

4

https://dl.doubtnut.com/l/_4vK13eSbrK2n


137. IF P ( E ) is the probability of an event E,

then……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P (E) ≥ 1

P (E) ≤ 0

0 ≤ P (E) ≤ 1

P (E) ≤ 1

https://dl.doubtnut.com/l/_4vK13eSbrK2n
https://dl.doubtnut.com/l/_WE3RlBUKoToK


138. Two fair dice are rolled and the face values

are added. The probability of getting an odd

number greater than 8 is ……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

9

1

6

1

4

1

9

https://dl.doubtnut.com/l/_KEij1kHuTPn1


139. A jar contains 3 mangoes and x guavas.

Two fruits are pulled from the jar without

replacement. An expression that represents

the probability one fruit is mango and the

next fruit is guava is……….

A. 

B. 

C. 

D. 

Answer:

( )( )
3

x + 3

x − 1

x + 2

( )( )
3

x + 3

x

x + 2

( )( )
3

x + 3

x − 1

x − 2

( (x + 2))
3 × 2

x + 3

https://dl.doubtnut.com/l/_zP9sxrYIghSa


Watch Video Solution

140. A card is pulled from a deck of 52 cards,

The probability of obtaining a club is

A. 

B. 

C. 

D. 

Answer:

1

3

13

26

2

11

1

4

https://dl.doubtnut.com/l/_zP9sxrYIghSa
https://dl.doubtnut.com/l/_QWS26CzaN5tg


Watch Video Solution

141. Three different greetings cards and their

corresponding covers are randomly strewn

about on a table. IF Sita puts the greetings

cards into the covers at random, the

probability of correctly matching of all the

greeting cards and covers is ……

A. 

B. 

C. 

5

6

2

3

1

6

https://dl.doubtnut.com/l/_QWS26CzaN5tg
https://dl.doubtnut.com/l/_QXpPDl1psL6U


D. 

Answer:

Watch Video Solution

1

9

142. When a coin is tossed, the probability of

getting a head is………….

A. 

B. 

C. 

1

2

1

4

1

3

https://dl.doubtnut.com/l/_QXpPDl1psL6U
https://dl.doubtnut.com/l/_Yjgs1gsRi4Sk


D. 

Answer:

Watch Video Solution

1

6

143. IF a die is rolled, then the probability of

getting an even number is…………

A. 

B. 

C. 

1

6

1

3

1

2

https://dl.doubtnut.com/l/_Yjgs1gsRi4Sk
https://dl.doubtnut.com/l/_zCprsJKQp2Ap


D. 

Answer:

Watch Video Solution

2

5

144. IF two dice ar rolled at a time then the

probability that the two faces show different

numbers is

A. 

B. 

1

6

35

36

https://dl.doubtnut.com/l/_zCprsJKQp2Ap
https://dl.doubtnut.com/l/_Av3OuVyY8OwE


C. 

D. 

Answer:

Watch Video Solution

5

6

1

36

145. If two dice are thrown simultaneously, the

probability of showing the same numbers on

their faces

A. 
1

6

https://dl.doubtnut.com/l/_Av3OuVyY8OwE
https://dl.doubtnut.com/l/_RW6afXV7sbtK


B. 

C. 

D. 

Answer:

Watch Video Solution

1

4

1

12

1

3

146. The probability of getting a number less

than 5 when a die is rolled is

A. 
4

5

https://dl.doubtnut.com/l/_RW6afXV7sbtK
https://dl.doubtnut.com/l/_nraNTWmi79Sl


B. 

C. 

D. 

Answer:

Watch Video Solution

2

3

3

6

1

6

147. IF a card is drawn from a pack the

probability that it is a king is

A. 
1

13

https://dl.doubtnut.com/l/_nraNTWmi79Sl
https://dl.doubtnut.com/l/_I0caQsPWNYHW


B. 

C. 

D. 

Answer:

Watch Video Solution

1

52

1

3

1

4

148. A card is pulled from a deck of 52 cards,

The probability of obtaining a club is

A. 
1

52

https://dl.doubtnut.com/l/_I0caQsPWNYHW
https://dl.doubtnut.com/l/_Jtlckky1GD1i


B. 

C. 

D. 

Answer:

Watch Video Solution

1

4

1

13

1

26

149. In a lucky dip of 30 tokens, Gopi

purchased two tokens . Then the probability of

getting the first prize is

https://dl.doubtnut.com/l/_Jtlckky1GD1i
https://dl.doubtnut.com/l/_8CPtDYqv0f7a


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

30

2

30

3

30

2

15

150. IF a ball is drawn at random from a box

containing 11 red balls,6 white balls and 9

https://dl.doubtnut.com/l/_8CPtDYqv0f7a
https://dl.doubtnut.com/l/_EJZEFKH0Wkq0


green balls then, the probability that the ball

is not green is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9

26

17

26

11

26

6

26

https://dl.doubtnut.com/l/_EJZEFKH0Wkq0


151. A box contains pencils and pens. The

probability of picking out a pen at random of

0.65. Then the probability of not picking a pen

is

A. 0.45

B. 0.55

C. 0.65

D. 0.35

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Wbpjfy6QK32Z


Watch Video Solution

152. Which of the following are equally likely

events?

A. A getting a Head or Tail in tossing a coin.

B. In a throw if a die, getting prime or

composite number.

C. Drawing a number card from 1-50, a

number divisible by 6 or 8.

https://dl.doubtnut.com/l/_Wbpjfy6QK32Z
https://dl.doubtnut.com/l/_QLS5CjBjzTPg


D. Piking a heart or black card from a deck

of playing cards.

Answer:

Watch Video Solution

153. In a simultaneous toss of two coins,

probability of no tails is

A. 

B. 

1

2

1

3

https://dl.doubtnut.com/l/_QLS5CjBjzTPg
https://dl.doubtnut.com/l/_0ZeLwZKLEFcE


C. 

D. 

Answer:

Watch Video Solution

1

4

3

4

154. In a simultaneous toss of two coins, the

probability of atleast one head is

A. 

B. 

1

3

2

4

https://dl.doubtnut.com/l/_0ZeLwZKLEFcE
https://dl.doubtnut.com/l/_xJhZVp0QKo64


C. 

D. 

Answer:

Watch Video Solution

3

4

1

4

155. In a single thrown of two dice, the

probability of getting a total of 12 is

A. 

B. 

1

18

1

36

https://dl.doubtnut.com/l/_xJhZVp0QKo64
https://dl.doubtnut.com/l/_TCIxTaN30dLP


C. 

D. 

Answer:

Watch Video Solution

1

9

1

12

156. In a single throw of two dice, the

probability of getting a total of 3 or 5 is

A. 

B. 

1

3

2

3

https://dl.doubtnut.com/l/_TCIxTaN30dLP
https://dl.doubtnut.com/l/_hRfb2zSfS1D7


C. 

D. 

Answer:

Watch Video Solution

1

6

5

6

157. In a single throw of two dice, the

probability of getting a total of 11 is

A. 

B. 

1

9

1

18

https://dl.doubtnut.com/l/_hRfb2zSfS1D7
https://dl.doubtnut.com/l/_PzZoAHGTaPZk


C. 

D. 

Answer:

Watch Video Solution

1

12

35

36

158. In a single throw of two dice, the

probability getting a doublet is

A. 

B. 

5

6

3

11

https://dl.doubtnut.com/l/_PzZoAHGTaPZk
https://dl.doubtnut.com/l/_BJu3FFAvoNIg


C. 

D. 

Answer:

Watch Video Solution

5

12

1

6

159. In a single throw of two dice, the

probability of getting distinct numbers is

A. 

B. 

5

6

3

12

https://dl.doubtnut.com/l/_BJu3FFAvoNIg
https://dl.doubtnut.com/l/_shacYK7O4J7d


C. 

D. 

Answer:

Watch Video Solution

5

36

4

36

160. In a single throw of two dice, the

probability of getting even doublet is

A. 

B. 

3

13

1

12

https://dl.doubtnut.com/l/_shacYK7O4J7d
https://dl.doubtnut.com/l/_HxBQscUHru8l


C. 

D. 

Answer:

Watch Video Solution

1

15

1

18

161. When two dice are rolled, probability of

getting odd doublet is

A. 

B. 

1

12

1

18

https://dl.doubtnut.com/l/_HxBQscUHru8l
https://dl.doubtnut.com/l/_o1n0sPab16Gg


C. 

D. 

Answer:

Watch Video Solution

1

9

1

6

162. Two dice are rolled, the probability of

getting 6 as the product is

A. 

B. 

1

18

1

12

https://dl.doubtnut.com/l/_o1n0sPab16Gg
https://dl.doubtnut.com/l/_G1kINgkS5J2I


C. 

D. 

Answer:

Watch Video Solution

1

9

1

6

163. The set of all possible events is called……….

A. event

B. impossible

C. Sample space

https://dl.doubtnut.com/l/_G1kINgkS5J2I
https://dl.doubtnut.com/l/_3T8P2W9NpRc6


D. None

Answer:

Watch Video Solution

164. The “event” of getting a number less than

or equal to 6 when a dice is thrown ……………….

A. base event

B. possible event

C. Element

https://dl.doubtnut.com/l/_3T8P2W9NpRc6
https://dl.doubtnut.com/l/_fmUinxElmKop


D. Sure event

Answer:

Watch Video Solution

165. When a coin is tossed, the probability of

getting a head is………….

A. 

B. 2

C. 

1

2

−1

https://dl.doubtnut.com/l/_fmUinxElmKop
https://dl.doubtnut.com/l/_jgk6qpCghyA5


D. 

Answer:

Watch Video Solution

3

2

166. When a dice is rolled, the probability of

getting a composite number is………….

A. 

B. 

C. 

1

4

1

2

1

3

https://dl.doubtnut.com/l/_jgk6qpCghyA5
https://dl.doubtnut.com/l/_RytV6UemJRrc


D. None

Answer:

Watch Video Solution

167. From a deck of cards, a card is drawn at

random, then the probability of getting a

black a face card is…………

A. 

B. 

9

2

1

4

https://dl.doubtnut.com/l/_RytV6UemJRrc
https://dl.doubtnut.com/l/_idLUIGVloM2f


C. 

D. 

Answer:

Watch Video Solution

3

2

2

26

168. From a bag containing 6 red balls, 5 green

balls and 3 blue balls, the probability of

getting a green ball at random………

A. 
5

14

https://dl.doubtnut.com/l/_idLUIGVloM2f
https://dl.doubtnut.com/l/_hMcrcOiCfCdI


B. 

C. 

D. None

Answer:

Watch Video Solution

4

5

5

4

169. There are 50 cards numbered from 1 to 50.

A card is drawn at random, then the

probability that the number on the card is

divisible by 8 is…………

https://dl.doubtnut.com/l/_hMcrcOiCfCdI
https://dl.doubtnut.com/l/_2cSV93ubu2Vg


A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

25

3

3

25

19

4

170. The event which can't happen at all is

known as…………event.

https://dl.doubtnut.com/l/_2cSV93ubu2Vg
https://dl.doubtnut.com/l/_RyOEDHkbGkm2


A. Sure

B. Possible

C. Impossible

D. None

Answer:

Watch Video Solution

171. The probability of an event is………….

A. 9

https://dl.doubtnut.com/l/_RyOEDHkbGkm2
https://dl.doubtnut.com/l/_LXjW546m19Rz


B. 7

C. 0

D. 1

Answer:

Watch Video Solution

172. The probability of an impossible event is

A. 1

B. 0

https://dl.doubtnut.com/l/_LXjW546m19Rz
https://dl.doubtnut.com/l/_yLtRtQdbv2mk


C. 4

D. None

Answer:

Watch Video Solution

173. Probability of an event lies between

……….and…………..

A. 0,1

B. 2,3

https://dl.doubtnut.com/l/_yLtRtQdbv2mk
https://dl.doubtnut.com/l/_xljkk8UvWmaW


C. 7,1

D. 4,9

Answer:

Watch Video Solution

174. P (E ) +P ( E )=…….

A. 0

B. 2

C. 1

https://dl.doubtnut.com/l/_xljkk8UvWmaW
https://dl.doubtnut.com/l/_uxia1jQPgrCg


D. None

Answer:

Watch Video Solution

175. In a box, there are 28 marbles of which x

are green and the rest are white. If the

probability of getting a green marble is .

Then number of green marbles=…….

A. 8

2

7

https://dl.doubtnut.com/l/_uxia1jQPgrCg
https://dl.doubtnut.com/l/_ZrZl5eY37QRw


B. 9

C. 10

D. 13

Answer:

Watch Video Solution

176. In the above problem =…

A. 12

B. 11

a5

https://dl.doubtnut.com/l/_ZrZl5eY37QRw
https://dl.doubtnut.com/l/_3cr7zBqrtpo6


C. 16

D. 20

Answer:

Watch Video Solution

177. IF E is an event whose probability is ,

then the probability of not E is………..

A. 

B. 

2

5

1

2

5

3

https://dl.doubtnut.com/l/_3cr7zBqrtpo6
https://dl.doubtnut.com/l/_PTrt69r07kIP


C. 

D. 

Answer:

Watch Video Solution

3

5

1

3

178. From a well shuffled pack of cards, a card

is drawn at random, then the probability of

getting a red jack is……….

A. 
1

3

https://dl.doubtnut.com/l/_PTrt69r07kIP
https://dl.doubtnut.com/l/_Maf0fdqjpFg2


B. 

C. 

D. 

Answer:

Watch Video Solution

1

26

1

52

1

31

179. From a well shuffled pack of cards, a card

is drawn at random, then the probability of

getting a red coloured card is

https://dl.doubtnut.com/l/_Maf0fdqjpFg2
https://dl.doubtnut.com/l/_OA2qy7ItwNyI


A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

1

2

1

3

1

7

180. When a coin is tossed, the probability of

getting a head is………….

https://dl.doubtnut.com/l/_OA2qy7ItwNyI
https://dl.doubtnut.com/l/_Lu87oZEZuxwh


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

3

3

4

1

3

1

2

181. IF two dice are rolled simultaneously then

the 'sum' with greatest possibility to happen

is……….

https://dl.doubtnut.com/l/_Lu87oZEZuxwh
https://dl.doubtnut.com/l/_SKWNL8EwRvk7


A. 71

B. 7

C. 3

D. None

Answer:

Watch Video Solution

182. If two events have same chances to

happen, then they are called…………

https://dl.doubtnut.com/l/_SKWNL8EwRvk7
https://dl.doubtnut.com/l/_GUGp7p8TCXoa


A. equally likely

B. not likely

C. cards

D. None

Answer:

Watch Video Solution

183. If the occurrence of one event prevents

the occurrence of another event then they

are……….

https://dl.doubtnut.com/l/_GUGp7p8TCXoa
https://dl.doubtnut.com/l/_3h3BU9pEQMfi


A. inclusive

B. dice

C. piking

D. mutually exclusive

Answer:

Watch Video Solution

184. Probability of switching on a bulb is a dark

room is 0.35, then the probability of not

switching the bulb is………….

https://dl.doubtnut.com/l/_3h3BU9pEQMfi
https://dl.doubtnut.com/l/_qrj9XjO6Uqup


A. 65.1

B. 6.5

C. 0.65

D. None

Answer:

Watch Video Solution

185. The probability of raining a day is ………….

A. −
1

2

https://dl.doubtnut.com/l/_qrj9XjO6Uqup
https://dl.doubtnut.com/l/_BX1ZET8N7u58


B. 

C. 

D. None

Answer:

Watch Video Solution

1

2

1

4

186. IF one side is chosen at random from the

sides of a right triangle, then the probability

that it is hypotenuse is ……………

https://dl.doubtnut.com/l/_BX1ZET8N7u58
https://dl.doubtnut.com/l/_hwfzr2osb6qh


A. 2

B. 

C. 3

D. 

Answer:

Watch Video Solution

1

2

1

3

187. When a dice is thrown, the probability of

getting neither a prime nor composite

number is…………..

https://dl.doubtnut.com/l/_hwfzr2osb6qh
https://dl.doubtnut.com/l/_QOhWt4uCnDPq


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

1

3

1

2

1

6

188. When a coin is tossed the probability of

getting a tail or head is…….

https://dl.doubtnut.com/l/_QOhWt4uCnDPq
https://dl.doubtnut.com/l/_qxG6j9K6vaQO


A. 0

B. 

C. 

D. 1

Answer:

Watch Video Solution

−
1

2

1

2

189. Getting a tail or head…………

A. equally likely

https://dl.doubtnut.com/l/_qxG6j9K6vaQO
https://dl.doubtnut.com/l/_mR6JS89uVAsV


B. unlikely

C. exclusive

D. None

Answer:

Watch Video Solution

190. Getting a prime (or) composite

A. mutually exclusive

B. Likely

https://dl.doubtnut.com/l/_mR6JS89uVAsV
https://dl.doubtnut.com/l/_sM5GTH69UcWw


C. 0

D. None

Answer:

Watch Video Solution

191. Getting a red card (or) black card is……..

A. mutually exclusive

B. More likely

C. less likely

https://dl.doubtnut.com/l/_sM5GTH69UcWw
https://dl.doubtnut.com/l/_TyaSGKF8vAsC


D. None

Answer:

Watch Video Solution

192. P (sure events)=…………..

A. 1

B. 0

C. 

D. 2

−1

https://dl.doubtnut.com/l/_TyaSGKF8vAsC
https://dl.doubtnut.com/l/_CO4iQjEgQBQz


Answer:

Watch Video Solution

193. P ( Impossible events)=………….

A. 4

B. 3

C. 

D. 0

Answer:

−1

https://dl.doubtnut.com/l/_CO4iQjEgQBQz
https://dl.doubtnut.com/l/_ugU8jLWMAcQu


Watch Video Solution

194. The probability of a face card from red

cards is……….

A. 

B. 

C. 

D. None

Answer:

3

13

13

3

2

17

https://dl.doubtnut.com/l/_ugU8jLWMAcQu
https://dl.doubtnut.com/l/_TiwO17b9jH3Z


Watch Video Solution

195. The probability of drawing a black king

from the deck is………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

14

1

3

1

2

1

26

https://dl.doubtnut.com/l/_TiwO17b9jH3Z
https://dl.doubtnut.com/l/_J1nLDSAQuzUJ


196. The probability of drawing a black card

from the black cards is…………

A. 3

B. 2

C. 0

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_J1nLDSAQuzUJ
https://dl.doubtnut.com/l/_CJyfz5a3Ekmj


197. The probability of getting two tails when

two coins are tossed is………….

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

1

4

1

2

2

3

https://dl.doubtnut.com/l/_VldKgtZ6P3bz
https://dl.doubtnut.com/l/_NkvYsBR7xckW


198. There are………. Cards in a pack of playing

cards.

A. 19

B. 16

C. 52

D. 50

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NkvYsBR7xckW


199. IF P ( E ) =0.05, then P =………

A. 1.35

B. 0.95

C. 9.5

D. 1.5

Answer:

Watch Video Solution

( ¯̄̄E)

https://dl.doubtnut.com/l/_Y2Tdxaegw9k7


200. P ( G )= , P =………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4

17
(¯̄̄G)

13

17

3

17

7

17

1

17

https://dl.doubtnut.com/l/_WmKowBnuxlHp


201. P (N) + P =…………

A. 0

B. 1

C. 3

D. 7

Answer:

Watch Video Solution

( ¯̄̄N̄ )

https://dl.doubtnut.com/l/_I6IqrBBXDCNg


202. A baby is born the probability that it is a

boy(or) girl is…………

A. 1

B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

2

1

3

1

2

https://dl.doubtnut.com/l/_RdiBGa23m9m1
https://dl.doubtnut.com/l/_ezJ8eG4YjnKv


203. P (E ) +P ( E )=…….

A. 1

B. 2

C. 3

D. None

Answer:

Watch Video Solution

204. Identify the statement. Which is correct?

https://dl.doubtnut.com/l/_ezJ8eG4YjnKv
https://dl.doubtnut.com/l/_p8DXjXpEsNkr


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

0 ≤ P (E) ≤ 1

0 < P (E) < 2

9 ≤ P (E)

205. There are……………face cards.

A. 1

https://dl.doubtnut.com/l/_p8DXjXpEsNkr
https://dl.doubtnut.com/l/_P066sEQBdcUo


B. 2

C. 4

D. None

Answer:

Watch Video Solution

206. Probability can never be…………

A. 0

B. 1

https://dl.doubtnut.com/l/_P066sEQBdcUo
https://dl.doubtnut.com/l/_0eiWNtjImCgD


C. 0.5

D. 

Answer:

Watch Video Solution

−2

207. A dice is tossed once then the probability

of getting an even number or a multiple of 3

is………..

A. 
1

2

https://dl.doubtnut.com/l/_0eiWNtjImCgD
https://dl.doubtnut.com/l/_7vmrd0qaSyzR


B. 

C. 

D. None

Answer:

Watch Video Solution

2

3

1

4

208. The probability that a leap year has 53

sundays is…….

A. 
2

7

https://dl.doubtnut.com/l/_7vmrd0qaSyzR
https://dl.doubtnut.com/l/_XPkSKQZlTDf2


B. 

C. 

D. 

Answer:

Watch Video Solution

3

7

1

7

21

17

209. Two dice are thrown once together. What

is the probability of getting a doublet?

A. 
1

4

https://dl.doubtnut.com/l/_XPkSKQZlTDf2
https://dl.doubtnut.com/l/_fdGqX1hYcIkU


B. 

C. 

D. None

Answer:

Watch Video Solution

1

2

1

6

210. P (E ) -1+ P =………..

A. 

B. 0

( ¯̄̄E)

−2

https://dl.doubtnut.com/l/_fdGqX1hYcIkU
https://dl.doubtnut.com/l/_7ugWLvj7QmJP


C. 9

D. 2

Answer:

Watch Video Solution

211. P (E )=0.455 then P =…………..

A. 0.545

B. 0.145

C. 0.345

( ¯̄̄E)

https://dl.doubtnut.com/l/_7ugWLvj7QmJP
https://dl.doubtnut.com/l/_uACnYxk3jIdJ


D. None

Answer:

Watch Video Solution

212. =………..

A. 

B. A

C. 

D. none

P(A1)

ϕ

1 − P

https://dl.doubtnut.com/l/_uACnYxk3jIdJ
https://dl.doubtnut.com/l/_xjH0O6ONoRTk


Answer:

Watch Video Solution

213. Karishma and Reshma are playing chess.

The probability of winning Karishma is 0.59.

Then probability of Reshma winning the match

is………..

A. 1

B. 0.46

C. 0.5

https://dl.doubtnut.com/l/_xjH0O6ONoRTk
https://dl.doubtnut.com/l/_TZUas3YT9cSL


D. 0.41

Answer:

Watch Video Solution

214. Vinneta said that probability of

impossible events is 1, Dhanalakshmi said that

probability of sure event is '0' and Sireesha

said that probability of any event lies in

between 0 and 1. In the above with whom will

you agree?

https://dl.doubtnut.com/l/_TZUas3YT9cSL
https://dl.doubtnut.com/l/_uoua5AIoAX9r


A. Vineetha

B. Dhanalaksmi

C. Sireesha

D. All the three

Answer:

Watch Video Solution

215. A page is opened at random from a book

containing 90 pages. Then the probability of a

page number is a perfect square is………..

https://dl.doubtnut.com/l/_uoua5AIoAX9r
https://dl.doubtnut.com/l/_sNoWHTN1y860


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

90

90

2

90

1

90

216. The probability of picking a king card from

a well shuffled deck of playing cards is………………..

https://dl.doubtnut.com/l/_sNoWHTN1y860
https://dl.doubtnut.com/l/_Oi7EIAGQFAXO


A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

1

13

1

26

1

2

217. Getting a prime (or) composite

A. Mutually exclusive

https://dl.doubtnut.com/l/_Oi7EIAGQFAXO
https://dl.doubtnut.com/l/_QHiSR4D4WC2x


B. Equally likely

C. 0

D. None

Answer:

Watch Video Solution

218. P ( E )=0.65 then P =…….

A. 0.25

B. 1

( ¯̄̄E)

https://dl.doubtnut.com/l/_QHiSR4D4WC2x
https://dl.doubtnut.com/l/_vYIJIkPdZRus


C. 0.35

D. 0

Answer:

Watch Video Solution

219. The probability of getting a head when a

coin is tossed once is…………..

A. 0

B. 
1

2

https://dl.doubtnut.com/l/_vYIJIkPdZRus
https://dl.doubtnut.com/l/_neswtyVv7ngg


C. 

D. 1

Answer:

Watch Video Solution

1

4

220. Which one of the following cannot be the

probability of an event?

A. 0.7

B. 
2

3

https://dl.doubtnut.com/l/_neswtyVv7ngg
https://dl.doubtnut.com/l/_pfzO9VXajZqF


C. 

D. 

Answer:

Watch Video Solution

−1.5

4

5

https://dl.doubtnut.com/l/_pfzO9VXajZqF

